Svenska Bridgeférbundet
Simultan 2022-04-27

Partavling, 123 bord, 234 par. Antal brickor: 24. Medel: 2639.1. Frirond (*) ger egen procent.

Plac Par Poéng
1 R11 3698.6
2 17 3526.5
3 P18 34435
4 Gl 3406.3
5 B8 3403.2
6 C8 3360.9
7 E5 3358.8
8 K12 33585
9 O7 33465
10 K6 33025
11 B15 3265.5
12 S5 3264.7
13 F9 32485
14 L2 32314
15 Q3 3230.8
16 G6 3223.9
17 M4 3220.8
18 J1 3209.7
19 R5 32045
20 Q8 3201.1
21 R10 3196.0
22 K5 3190.5
23 E6 3180.7
24 D8 3180.3
25 14 3175.0
26 S9 3169.5
27 A2 3166.5
28 G18 3158.5
29 P9 3158.2
30 H5 31349
31 Q1 3106.5
32 B16 3105.5
33 P7 30915
34 F8 3084.5
35 Q9 3080.2
36 P15 3074.2
37 Q5 3070.6
38 G15 3069.8
39 H4 3067.5
40 S8 3064.8
41 F5 3063.9
42 L12 3063.8
43 N6 3055.4
44 M8 3043.5
45 D3 3030.3
46 E1 3018.9
47 C7 3014.7
48 P14 3012.8
49 E10 3010.5
50 K2 3008.5
51 D1 3007.8
52 F12 2995.6
53 S6 2981.5
54 P13 2966.0
55 F18 2965.5
56 03 2961.5
57 N2 2960.6
58 F14 2954.4
59 G5 2935.6
60 P1 29315
61 B17 2926.5
62 B7 2922.2
63 Al 29175
64 O5 29155
65 B13 2912.8
66 C4 2908.4
67 G10 2904.5
68 M1 2898.9
69 M12 2879.4
70 J6 2877.1
71 L6 28718
72 15 2861.6
73 G17 2858.5
74 C3 2850.0
75 M9 2848.0
76 H6 2847.4
77 06 2830.6
78 114 2829.5
79 B10 2827.5
80 J2 2826.9
81 Bl 27945
82 G1l1 2791.6

83 E8 27914
84 P6 2788.5
85 D6 2787.1

%

70.05
66.79
65.22
64.51
64.45
63.65
63.61
63.61
63.38
62.55
61.85
61.83
61.52
61.20
61.19
61.06
61.00
60.79
60.69
60.63
60.53
60.43
60.24
60.23
60.13
60.03
59.97
59.82
59.81
59.37
58.84
58.82
58.55
58.42
58.34
58.22
58.16
58.14
58.10
58.05
58.03
58.03
57.87
57.64
57.39
57.18
57.10
57.06
57.02
56.98
56.97
56.74
56.47
56.17
56.16
56.09
56.07
55.95
55.60
55.52
55.43
55.34
55.26
55.22
55.17
55.08
55.01
54.90
54.53
54.49
54.39
54.20
54.14
53.98
53.94
53.93
53.61
53.59
53.55
53.54
52.93
52.87
52.87
52.81
52.79

Namn

Goran Ahs - Mats Persson

Lisa Bergquist - Leif Lundberg

Anders Dellien - Lennart Johansson
Tony Lindblom - Robert Johansson
Fredrik Smitt - Magnus Haeger
Kenneth Hellstrom - Stellan Andersson
Lars Andersson - Johnny Kullberg
Christian Mdller - Lars-Gdran Bertilsson
Lars Ericson - Bo Ericson

Bo Lind - Tomas Wernersson

Hakan Lindh - Kjell Staffas

Elisabeth Olsson - Mats Sandequist
Per Hansson - Bengt-Olof Westmar
Jon Lundqyvist - Dorothy Tagt

Sonja Proos - Anneli Stenberg

Bo Flyme - Peter Hahne

Lilly Sturesson - Sten Lindbé&ck

Lage Boman - Christer Bergqvist
Sven-Olov Andersson - Thomas Asman
Lennart Karlsson - Séren Borne
Michael Karlin - Hakan Schullstrém
Annika Reuter - Solweig Pettersson
Sven-Olof Gardman - Dan Johansson
Anders Darle - Jan Lilja

Thord Lindberg - Leif Rangevall

Kent Hultén - Arnold Andersson

Kent Backstrém - Per Jansson

Kent Hidsjo - Sven-Arne Svensson
Bengt Lundberg - lvan Abrahamsson
Hans Lilja - Per Eliason

Gunilla Hedin - Ake Hansson

Peter Johansson - Torsten Runebert
Lena Zetterup - Jan-Olof Zetterup
Kerstin Johansson - Monica Appelros
Bengt Ostman - Randi Rosnas

Arvid Halvorsen - Lise-Lotte Grape
Pelle Persson - Gun-Britt Persson
Jérgen Damm - Morgan Johansson
Anita Johnsson - Curt Lindstrém
Thomas Hultgren - Christer Larsson
Ruth Carlson - Inger Bertilsson

Ulf Wilkenson - Asa Eriksson

N-G Nilsson - Ann-Katrin Vikstrém
Johan Dahlin - Lars Magnusson

Marit Rangelind - Stefan Broberg
Peggy Andersson - Olof Andersson
Ove Olsson - Sven-Olof Onnesson
Bengt Hilling - Lars-Goran Johansson
Kenneth Wester - Ingvar Westman
Berth Andberg - Andrzej Tracewski
Per Jansson - Anna-Karin Mattsson
Eivor Svensson - Per Svensson

Britt Cufiat - Morgan Larsson

Allan Johansson - Arne Andersson
Ingrid Hagberg-Hake - Hakan Lorantz
Lars Andersson - Christer Broberg
Kjell Andersson - Stefan Andersson
Larry Rosenius - Olle Aim

Tommy Simonsson - Claes-Gdran Blixt
Gert-Inge Hugosson - Conny Karlsson
Kerstin Schenning - Lennart Schenning
Mickey Maretics - Anders Lovling
Elisabeth Jonasson - Anna-Mari Ohlén
Susanne Lind - Elisabeth Ullstrém
Berth Lundstrém - Hans Asander
Lars-Bertil Andersson - Carl-Gustav Johansson
Jonas Hijelte - Risto Laine

Lisbeth Solberg - Erik Wall

Birgitta Kare - Borje Karlsson

Nils-Ake Asplund - Per Hedemalm
Stig Johansson - Sven-Ake Arvendahl
Lennart Markgren - Erik Johansson
Torbjérn Forsén - Dag Johansson

Uno Karlsson - Lennart Ostman

Ingrid Ahl - Gunilla Fredriksson

Helen Uliczka - Mikael Hallin

Anna Lundvall - Maj-Britt Lundberg
Agneta Troselius - Marianne Liljenstrand
Christer Haeger - Ronny Erixon
Christer Nystrom - Robert Bohman
Stefan Giertz - Robin Holmqvist
Benny Andersson - Géte Olauson
Bruno Danielsson - Anne-Marie Cedergren
Carina Halvorsen - Ulf Halvorsen
Torbjorn Johansson - Ida Broberg

MID

4159
89691
7117
21037
93591
7012
7941
13536
12536
1452
6055
42078
45045
50092
18122
2260
2308
17370
13771
7084
13772
49821
261
3659
5302
42086
11196
17658
7466
4659
65072
19486
87572
88617
78901
14217
78898
88999
5886
28874
86969
36123
21466
39018
10123
78948
10903
10849
3291
1331
57189
37123
7921
18392
87252
18938
9540
16382
21857
88521
82161
50249
57457
53831
16258
79588
88994
22357
6776
5347
78428
56509
88512
9665
2169
31853
83993
53653
35291
15206
88491
12301
35508
91477
49897

61478
20271
13145
27334
18165
2726
85030
13622
2962
7110
34308
617
80254
7188
83306
1187
2143
42898
3581
65067
11272
49820
8042
83853
10493
13331
12635
1030
15144
83479
13328
9996
87573
27368
78903
41842
86757
88993
53347
39930
45818
64870
9550
11245
16034
49473
10902
29556
20056
49836
57191
37124
2752
18451
91035
8172
15068
55722
12046
28943
82162
18166
5112
28464
2856
37821
88882
17069
2290
580
5396
89345
88495
36190
15240
4053
88972
38910
88442
17371
35012
12300
91866
3452
61999

Klubb

Amals BS

Luled BK

Tjorns BK

Kisa BS

BK S:t Erik - Enkdpings BS
BK Falkenberg

Sala BS

Nykopings BS

Gavle BK

Nykopings BS

Enkopings BS - Malungs BK
AsalFrilles&s BK
Karlshamns BK

Borlange BK

Svegs BK

Kisa BS

BK Stjarnskotten - Sthims-Polisens BS
Norsjo BK

Amals BS

Svegs BK

Améls BS

Nykopings BS

Folkare BK

Hagfors BK

Boden-Sévast BS
Asa/Frilles&s BK

Alnd BK

Kisa BS

Tjorns BK

Lindesbergs BS

Svegs BK

Enkopings BS
Stenungsunds BK
Karlshamns BK

Svegs BK

Stenungsunds BK - Tjorns BK
Svegs BK

Kisa BS

Lindesbergs BS
AsalFrillesds BK
Karlshamns BK

Rattviks BS

Skellefted BK
Sthims-Polisens BS - BK S:t Erik
Finnskoga BS

Folkare BK

BK Falkenberg

Orust BK - Stenungsunds BK
Skutskars BK - Folkare BK
Nykopings BS

Finnskoga BS

Karlshamns BK

Vard BK

Tjorns BK

Karlshamns BK

Skutskéars BK

Skellefted BK

Karlshamns BK - Bodekull Seniorbridge, Karlshamn
Kisa BS

Stenungsunds BK
Enkopings BS

Enkdpings BS

Alnd BK

Gavle BK

Enkopings BS

BK Falkenberg

Kisa BS

BK Tva Ess
Sthims-Polisens BS
Arjeplogs BS

Rattviks BS

Luled BK

Kisa BS

BK Falkenberg
Sthims-Polisens BS - BK S:t Erik
Lindesbergs BS

Géavle BK

Luled BK

Enkopings BS

Norsjo BK

Enkopings BS

Kisa BS

Folkare BK

Tjorns BK

Finnskoga BS
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115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141
142
143
144
145
146
147
148
149
150
151
152
153
154
155
156
157
158
159
160
161
162
163
164
165
166
167
168
169
170
171
172
173
174
175
176
177

K1 27775
F10 2775.8
B14 27725
11 2769.7
C9 2769.3
P3 2767.5
2762.3
S1 2760.8
J4  2759.4
Q2 27545
G8 2751.8
27485
B3 2744.0
2738.8
27385
K8 2733.5
D7 2732.6
N5 2731.2
F3 2730.2
R8 2726.4
16 2724.0
C5 2719.6
J5 27137
110 2700.5
F1 2699.2
B2 2689.5
12 2689.5
R6 2688.2
2680.9
L3 2664.9
A3 2663.2
C6 2655.8
N1 2652.8
H1 2649.7
S3  2648.9
H9 2647.4
R7 2644.9
R3 2644.4
2640.2
K9 2638.5
E3 2637.7
2636.5
2635.3
N4 2629.1
C2 26282
M7 2625.9
2620.3
2606.4
2599.1
112 2598.5
L8 2596.1
115 2583.5
B4 2579.0
S4 25745
P5 2569.8
J3  2569.1
G4 2567.8
113 2555.5
25455
L5 2544.2
2541.3
J9 2531.6
D9 2530.4
2527.5
L9 2519.0
2503.1
N7 2500.3
F2 2498.5
08 24955
R4 2492.2
F7 2487.8
K4 24875
116 2478.4
111 2476.5
2474.2
N3 2462.9
G2 24557
RO 2449.6
2446.6
24458
N9 24445
B6 2440.5
S2  2427.2
M2 2424.6
F4 2423.8
2419.2
2416.7
24125
P19 2400.5
L4 2394.2
H3 2383.5
S7 2376.1

52.60
52.57
52.51
52.46
52.45
52.41
52.32
52.29
52.26
52.17
52.12
52.06
51.97
51.87
51.87
51.77
51.75
51.73
51.71
51.64
51.59
51.51
51.40
51.15
51.12
50.94
50.94
50.91
50.77
50.47
50.44
50.30
50.24
50.18
50.17
50.14
50.09
50.08
50.00
49.97
49.96
49.93
49.91
49.79
49.78
49.73
49.63
49.36
49.23
49.21
49.17
48.93
48.84
48.76
48.67
48.66
48.63
48.40
48.21
48.19
48.13
47.95
47.93
47.87
47.71
47.41
47.35
47.32
47.26
47.20
47.12
47.11
46.94
46.90
46.86
46.65
46.51
46.39
46.34
46.32
46.30
46.22
45.97
45.92
45.91
45.82
45.77
45.69
45.46
45.34
45.14
45.00

Christer Fridell - Thomas Gronlund
Lars Jeppsson - Lars-Erik Johansson
Anders Pettersson - Christer Andersson
Esa Ryhé&nen - Henrik Oldenburg
Per-Ingvar Skoglund - Vera Gemrud
Laila Barone - Kent Larsson

Christer Roos - Sven-Erik Emanuelsson
Mona Kareby - Bengt Kareby

Hans Molin - Jerker Norlund
Ann-Kristin Olofsson - Tomas Olsson
Ylva Skiold - Helén Forss

Christer Tolergard - Hasse Borjesson
Ola Sodergran - Thomas Ekblom

Ulla Jeppsson - Thomas Svahn
Ginger Stahl - Gun Hallén

Ingegérd Andersson - Sara Haglind
Kjell Nersveen - Lennart Myrenhill
Tomas Oskarsson - Soren Forsmark
Elisabet Andersson - Lisbeth Nilsson
Christina Nordwall - Anna Hallberg
Lars Forsberg - Jan Lundberg

Bobbo Jovic - Torgild Olsson

Jan Johansson - Rune Isaksson

Lars Sundberg - Per Obom

Bengt Lovgren - Eva Pahlsson
Anette Maretics - Thomas Johnsson
Ulla Norman - Gunnar Holmkvist
Lars-Olov Lindstrom - Hans Larsson
Per Schullstrdm - Lena Schullstrém
Gunilla Wiklund - Birgitta Stegner
UIf Martin Odlund - Karin Géransson-Odlund
Birgitta Karlsson - Solveig Tideman
Torbjorn Utterstrom - Hans Holmlund
Leif Ernstsson - Sten Nilsson

Tommy Oscarsson - Kristina Edeland
Leif Kjellberg - Bertil Jansson

Karin Roth - Ingela Hedlund

Bo Johansson - Caisa Johansson
Bodil Johansson - Gunilla Lindahl

Bo Ytterstrom - Sven Andersson
Bengt-Olov Abrahamsson - Leif Eriksson
Rolf Lindberg - Ulla Lundequist

llse Melin - Margita Peterson

Melker Fransson - Berith Markstedt
Goran Olsson - Lars Thorstensson
Eva Benckert - Ann-Marie Johansson
Mats Wiklund - Mats Isaksson

Fredrik Banck - Mats Mankinen
Annika Hugosson - Torbjoérn Eriksson
Ann-Lis Sundelin - Kjell Svensson
Anita Solin - Mariann Eriksson

Inger Lundberg - Tomas Lundberg
Johan Ostman - Christer Cedergren
Arne Svensson - Lennart Carlsson
Kerstin Tidlund - Ingela Sollid

Siv Stenmark - Leif Olofsson

Tommy Larsson - Lars Durefelt
Emma Karlsson - Maria Nordholme
Borje Johansson - Jan Enarsson

Ake Lindén - Hans Ahstrém

Kristina Nordenstam - Jerker Persson
Stellan Karlsson - Ingvar Bergquist
Bruno Karlstam - Roger Satherberg
Anita Ahlstrom - Lewis Hamilton

Bibbi Osth - Gunnar Berg

Yngve Robertsson - dejenfeldt paul
Roger Nilsson - Kurt Eklund
Maja-Lena Olsson - Christer Carlsson
Ingrid Stolt - Lars Karlsson

Gote Jansson - Lena Danielsson
Birgitta Mattsson - Laila Palm

Goran Svard - Lars Gustafsson

Kalle Bergdahl - Gustav Hansson
Micke Glyssner - Géran Nordberg
Mona Zetterquist - Gullvi Carlberg
Karl-Erik Johansson - Britt Ahman
Harriet Albinsson - Mats Andersson
Gun Johansson - Jan Johansson
Fredrik Kronmarker - Johan Séafsten
Ronny Karlsson - Lennart Nilsson
Lars-Goran Blomkvist - Eva-Britt Blomkvist
Gunbritt Bosell - Bo Engdahl

Glenn Eliasson - Lars Viksten
Ann-Sofi Frankl - Christer Thunvik
Lena Jepson - Christina Johansson
Lotta Hoglund - UIf Karlsson
Bo-Lennart Hjalmarsson - Eddy Huber
Christina Berthag - Ann-Katrin Selander
Thomas Englund - Alf Torma

Rogert Deiwall - Klas Lofgren

Birgitte Thellefsen - Gunilla Ermedahl
Magnus Svensson - Lennart Johansson

1329
91001
29628
13240

2734
50185
79118
26972
20432
78892
19968
33024

9994
88584
29523

2813
14986
80075
88566
93184

8478
48267

9696
17082
68079
24689
40394
12166
28089
41944

6993
31546

9521
13674
53999
10137
56429
20507
89824
13000
37988

255
62736
87148

3060
22867
43330
21847
87574
48125
86656
43797
21811

4267
32675
31714
78648
58290
16700
67337
58477
82295
14996
16261
41943
34770
27617
45814
31664
11270
63984
27149
56508

2607
25640

9680
44436

3626
65448
31547

9545
64710
42080

9912
61386
66457
13748
33608
41642
23284
39856
92402

46270
82893
90689
9549
23764
7660
10424
26973
15205
42045
9196
16277
32214
66746
262
57308
57192
81896
26192
80476
5271
2730
9689
64346
41912
16635
4882
12989
32944
59204
3713
19838
15069
10142
55609
10139
41365
86878
29639
6682
8
20912
66588
64309
16142
58367
61289
21853
46979
5368
86701
43798
4027
7129
59394
48794
17659
200761
4272
64943
59393
27536
15381
59407
38

81434
65438
31365
24116
57508
88365
53656
5369
34343
9677
21846
27500
35452
19849
9525
64711
81212
2287
61384
68214
9080
33609
17389
19303
60254
33567

Nyképings BS - Trosa BS
Karlshamns BK
Enkopings BS

Luled BK

BK Allians, Halmstad
Tjorns BK

Réttviks BS

Asa/Frilles&s BK
Skellefted BK - Norsjo BK
Svegs BK

Kisa BS

Stenungsunds BK
Enk&pings BS
Karlshamns BK

Folkare BK

Stigtomta BK

Finnskoga BS

Skellefted BK
Karlshamns BK

Amals BS

Luled BK

BK Albrekts - BK Falkenberg
Norsj('j BK

Lulea BK

Karlshamns BK
Enkopings BS

Luled BK

Amals BS

Amals BS

Rattviks BS

Alnd BK

BK Falkenberg

Skellefted BK
Lindesbergs BS
Asa/Frilles&s BK - Askims BK
Lindesbergs BS

Amals BS

Amals BS

Tjorns BK

BK Sang, Oxel6sund
Folkare BK

Folkare BK

Asa/Frilles&s BK
Skellefted BK

BK Falkenberg

BK S:t Erik - Sthims-Polisens BS
Rattviks BS

Kisa BS

Stenungsunds BK

Luled BK

Rattviks BS

Luled BK

Enk&pings BS

Vard BK

Tjorns BK

Norsjd BK

Kisa BS

Luled BK - Pited BS
Orust BK - BK Albrekts
Rattviks BS - BK Debut
Tjorns BK

Norsjo BK

Finnskoga BS

Enkd&pings BS - Sandvikens BK
Rattviks BS
Stenungsunds BK
Skellefted BK
Karlshamns BK
Skutskars BK

Amals BS

Karlshamns BK

BK Sang, Oxelésund
Luled BK

Luled BK

Karlshamns BK
Skellefted BK

Kisa BS

Amals BS - Billingsfors BS
BK Online - Uppsalabridgen
BK Falkenberg

Skellefted BK

Enkopings BS
Asa/Frilles&s BK
Sthims-Polisens BS
Karlshamns BK
Karlshamns BK

Amals BS

BK Falkenberg

Tjorns BK

BK Dalom - Insjon-Leksands BK
Lindesbergs BS
Asa/Frillesas BK - Varé BK
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178 G16 2352.5 44.55 Jan Friberg - Bosse Larsson 56765 56769 Kisa BS
179 N8 2351.1 44.53 Mats Lundquist - Anita Borjesson 9694 51852 Skellefted BK
180 H10 2350.6 44.52 Hjordis Andersson - Stina Gottliebsson 46845 53995 Lindesbergs BS
181 M6 2347.5 44.46 Yvonne Flodgvist - Elisabeth Nordling 14805 11622 BK S:t Erik
182 19 2339.3 44.31 Ann-Sofie Wibble - Hans Sandberg 43165 48117 Luled BK
183 R2 2332.1 44.17 Ernst Lindgvist - Hikan Sandberg 61104 38849 Amaéls BS
184 13 2326.5 44.06 Lisbet Markgren - Shiler Hussami 56510 48126 Luled BK
185 D2 2323.7 44.01 Christer Toreheim - Kent Persson 46238 54551 Finnskoga BS
186 H7 2321.4 43.97 Birgitta Jonasson - Sven Jonasson 93937 93938 Lindesbergs BS
187 R1 2314.8 43.84 Ulf Thyselius - Jan-Eric Thorin 63135 56430 Billeruds BK - Amals BS
188 M5 2309.1 43.73 Jan-Olof Hegethorn - Peter Flodgvist 12033 14778 BK S:t Erik
189 S14 2299.2 43.55 Bo Johansson - Rustan Lundgren 17784 26218 Asa/Frillesds BK
190 H2 2296.6 43.50 Gudrun Eriksson - Birgit Pettersson 46749 64081 Lindesbergs BS
191 G3 2282.4 43.23 Christer Frisk - Bertil Melkersson 43398 1022 Kisa BS
192 S10 2280.2 43.19 Lena Hultgren - Christina Svensson 42077 34440 Asa/Frillesés BK
193 J8 2272.6 43.04 Per-Ake Karlsson - Per Tallstrém 82297 15861 Norsjo BK
194 C12 2258.7 42.78 Asa Caviezel - Sven Bilén 56627 63334 BK Falkenberg
195 B9 2251.5 42.64 Barbro Sandberg - Bertil Lénnemo 51979 89940 Enkopings BS
196 C10 2240.9 42.44 Stig Olsson - Lars Warberg 41175 42413 BK Falkenberg
197 01 2222.4 42.09 Clarie Jansson - Bosse Ohlsson 88599 84208 Skutskars BK
198 F15 2213.5 41.92 Birgitta Lo6w - Anders Carlson 91591 19394 Karlshamns BK
199 02 2188.5 41.45 Hans Lindstréom - Lennart Nilsson 28580 3136  Skutskars BK
200 P2 2176.4 41.22 Odd Nordanas - Christina Nordanas 43875 43874 Tjorns BK - Stenungsunds BK
201 P22 2161.8 40.94 Birgitta Andersson - Ingrid Nordin 46985 46984 Stenungsunds BK
202 E4 2160.6 40.92 Lars Wohlfart - Kalle Hedin 91890 60794 Folkare BK
203 04 2159.5 40.90 Marianne Melchior Ericson - Karina Andersson 17146 31360 Skutskéars BK
204 K10 2156.5 40.84 Solveig Bergkvist - Inger Eriksson 52100 78431 Nykopings BS
205 K7 2152.2 40.76 Maud Bergkvist - Beryl Johnsson 4354 62315 Nykdpings BS - BK Sang, Oxeldsund
206 D5 2147.7 40.68 Nils Erik Magnusson - Lasse Jons 64700 64703 Finnskoga BS
207 R16 2121.3 40.18 Anne-Lie Karlsson - Bengt Magnusson 48028 55416 Amals BS
208 P8 2091.5 39.61 Margareta Karlsson - Britt-Inger Ryding Johansson 60947 63607 Stenungsunds BK
209 G14 2082.8 39.45 Jyrki Niskala - Per-Arne Ekholm 65402 65413 Kisa BS
210 C1 2075.8 39.31 Inger Lindstrom - Karl-Bertil Bengtsson 41170 33604 BK Falkenberg
211 F6 2038.5 38.61 Ulla-Britt Wahlin - Berit Remnelid 86980 84581 Karlshamns BK
212 D4 2035.7 38.56 Anders Brandel - Monika Frykelid 66689 66693 Finnskoga BS
213 J7 2015.4 38.17 Ann Lundmark - Birger Lundstrom 35884 17369 Norsjo BK
214 M10 1981.8 37.53 Marie-Louise Andersson - Gunilla Rosell 14766 13867 BK S:t Erik
215 K3 1978.8 37.48 Eva Antonsson - Lisbeth Lindgvist 30138 56494 Stigtomta BK - Nykdpings BS
216 Q6 1963.2 37.18 Kerstin Sjoberg - Britt Fohlin 65069 80494 Svegs BK
217 S12 1931.8 36.59 Claes-Goéran Ahren - Anna Ahren 55900 55899 Asa/Frilles&s BK
218 R14 1918.3 36.33 Birgitta Hedlund - Par Lindstrém 66926 66922 Amals BS
219 B11 1915.8 36.28 Elsie Johansson - Sture Pettersson 55689 32553 EPBK
220 P17 1915.1 36.27 Gota Hakansson - Gert Mortensen 55026 13171 Stenungsunds BK - Tjorns BK
221 B5 1909.2 36.16 Lars Boivie - Inger Jonsson 66792 66794 Enkodpings BS
222 K11 1895.5 35.90 Karin Hamgqvist - Birgitta Schonn 52099 34971 Nykdpings BS
223 P4 1886.3 35.72 Ingrid Heyer - Irma Svensson 49021 46610 Tjorns BK - Stenungsunds BK
224 G7 1832.7 34.71 Agneta Lindblom - Lillemor Dahlqgvist 17656 18677 Kisa BS
225 E2 1825.7 34.58 Kent Angskog - Andreas Hedstrom 38152 61427 Folkare BK
226 A4 1812.8 34.33 Sven-Olov Hellgvist - Gunnel Selling 13984 45989 Alno BK
227 Q10 1783.0 33.77 Gun Hallgren - Sussanne Jarvinen 65070 65083 Svegs BK
228 L1 1719.0 32.56 Roger Skarberg - Gunnar Almling 33438 62612 Rattviks BS
229 F13 1708.1 32.35 Stefan Olsson - Ingvar Svensson 57509 88202 Karlshamns BK
230 E7 1614.3 30.57 Birger Ericsson - Bert Ahlstrém 35355 61431 Folkare BK
231 I8 1605.5 30.41 Maria Hallgvist - Hakan Nyman 60441 60442 Luled BK
232 G9 1569.7 29.73 Liane Ringh - Evy Axelsson 44433 44435 Kisa BS
233 Q4 1553.7 29.43 Kerstin Bohlin - Yvonne Augustsson 66655 66654 Svegs BK
234 B18 1532.8 29.03 Ulla Lindgren - Brittmarie Frolén 41501 50144 Enkopings BS
1 & DKn9 Bésta kontrakt 2 4 E1074 Bésta kontrakt 3 498532 Bésta kontrakt
Nord v E10982 2¢ N =90 Ost v DKn42 4v OD-1100 Syd v 1095 44 S =130
Ingen +93 NS + D1032 ov +K
»E32 & ¢ v & NT *K & ¢ v & NT #E753 & ¢ v & NT
s E7 & K8652 N7 86 67 «D 4 KKn96532 N 6 104 4 8 4 ED7 4K104 N 109 6 8 7
vKDKn763 ¥5 S786 67 vE10965 vK73 S 6 104 4 8 vK632 vDKn87 S 109 6 8 7
+ K4 ¢ 8765 065776 +9 ¢ Kn8 072985 ¢ D104 ¢9753 0347 44
#KKn9 £765 V657786 &#EKN9542 #10 V72985 #1082 %96 V 34744
41043 48 4 Kn6
va v8 vE4
+ EDKn102 + EK7654 + EKn862
+D1084 »D8763 #KDKn4
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
C3 Cl11 2vDV-2 ¢9 300 2200 0.0| P9 P17 44DV-4 ¢2 800 2200 0.0| 16 113 44 S= vJ 420 2200 0.0
F12 F11 INS+3 #9 180 2180 20| C4 C6 5¢ S= 4Q 600 2140 6.0| L4 L3 3NN= 7 400 2180 2.0
E4 E3 B 150 2080 12.0| K5 K11 5¢ N= ¥3 600 2140 60| F1 F12 3v0O-2 4J 200 2140 6.0
L4 L3 24 0-3 v4 150 2080 12.0| J6 J5 3NN= 44 600 2140 6.0| P5 P19 3v0O-2 &#J 200 2140 6.0
B7 B3 INS+2 vK 150 2080 120 17 110 3NN= 45 600 2140 6.0| 114 I5 3v0O-2 ¢K 200 2140 6.0
S8 S14 3NV-3 ¥8 150 2080 120 Q9 Q2 5¢ S= <vA 600 2140 6.0(B11 B6 INS+3 ¥3 180 210.0 10.0
M9 M1 44 O-3 v4 150 208.0 12.0| P3 P16 54DQ-3 ¢K 500 208.0 120 C5 C7 24 S+2 &2 170 207.0 13.0
R9 R4 44 O-3 v4 150 208.0 12.0|L10 L5 54DO-2 ¢+A 300 205.0 15.0(B15 B3 24 S+2 #8 170 207.0 13.0
F13 F1 44 O-3 v4 150 208.0 12.0|K12 K7 44DO-2 ¢A 300 2050 15.0| C4 C12 INS+2 ¢3 150 199.0 21.0
P20 P5 24 O-3 ¥4 150 2080 120 I5 112 54V-4 ¢2 200 2010 19.0| O5 O4 2#S+3 v3 150 199.0 21.0
P22 P21 44 O-3 ¢A 150 208.0 12.0| C9 C10 4v V-4 ¢3 200 2010 19.0| R7 R15 INS+2 &T 150 199.0 21.0
K2 K8 2NN= +¢6 120 188.0 32.0( A3 A2 4¢ S+1 «Q 150 189.0 31.0| B8 B4 INS+2 &2 150 199.0 21.0
A3 A2 2NS= v6 120 188.0 32.0| S4 S6 4¢ S+1 «Q 150 189.0 31.0|F11 F6 INS+2 3 150 199.0 21.0
N4 N7 2NN= 42 120 188.0 32.0| G6 G16 4¢ S+1 «4Q 150 189.0 31.0(F15 F3 3#S+2 3 150 199.0 21.0
F6 F16 INS+1 vK 120 188.0 32.0| E8 E6 4¢ S+1 4Q 150 189.0 31.0| G1 G12 34 N= vQ 140 188.0 32.0
O7 Ol INS+1 ¥J 120 188.0 32.0| J8 J3 3¢ N+2 49 150 189.0 31.0| L2 L11 24 S+1 &T 140 188.0 32.0
C8 Cl4 INS+1 vK 120 188.0 32.0(B10 B5 4¢ S+1 4Q 150 189.0 31.0| E7 E12 140 188.0 32.0
C9 C10 INS+1 vK 120 188.0 32.0|Cl2 C7 4¢ S+1 4Q 150 189.0 31.0| D9 D1 24 S+1 2 140 188.0 32.0
111 16 INS+1 vK 120 188.0 32.0|G12 G11 4#V-3 2 150 189.0 31.0|R11 R3 24 N+1 v6 140 188.0 32.0
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INS+1 K 120 188.0 32.0( 114 I3 4¢ S+1 «Q 150 189.0 31.0( P1 P11 24 S+2 3 130 141.0 79.0
INS+1 6 120 188.0 32.0| P14 P2 3¢ «Q 150 189.0 31.0| S1 S8 2#S+2 ¥3 130 141.0 79.0
2NN= &5 120 188.0 32.0( J4 J7 3¢ 130 176.0 440| H2 H4 3#S+1 v2 130 141.0 79.0

zZWn
+ +
YN
L J
_|

3¢ S=  ¢vK 110 175.0 450(G10 G5 4¢ N= &T 130 176.0 440| K2 K8 2#S+2 2 130 141.0 79.0
3#S= vK 110 175.0 45.0|B12 Bl1l 3¢ S+1 «Q 130 176.0 44.0| M2 M11 24 S+2 #2 130 141.0 79.0
3v V-2 ¢9 100 1640 56.0( C3 C11 3¢ S= «4Q 110 172.0 480 D3 D6 2#S+2 2 130 141.0 79.0
3v V-2 ¢3 100 164.0 56.0( K2 K8 4vDV-1 ¢2 100 157.0 63.0 N3 N8 44 S= &2 130 141.0 79.0
3v V-2 ¢9 100 164.0 56.0| R3 R5 44 O- ¢A 100 157.0 63.0| K4 K11 2#S+2 v2 130 141.0 79.0
3vDV-1 «A 100 164.0 56.0( S3 S11 4vDV-1 ¢Q 100 157.0 63.0| N4 N7 2#S+2 %2 130 141.0 79.0
34 0O-2 v4 100 164.0 56.0( E4 E3 . 100 157.0 63.0| R4 R6 2#S+2 2 130 141.0 79.0
3NV-2 ¢8 100 1640 56.0( L8 L6 44 O-2 8 100 157.0 63.0| S4 S12 24 S+2 &2 130 141.0 79.0
3v V-2 ¢9 100 164.0 56.0( S8 S14 44D O-1 ¢K 100 157.0 63.0( K5 K7 3#S+1 2 130 141.0 79.0
3v V-2 ¢9 100 164.0 56.0( F9 F17 44 O-2 ¢A 100 157.0 63.0( S5 S7 2#S+2 2 130 141.0 79.0
24 O-2 v4 100 164.0 56.0( S9 S10 44 O-2 +¢A 100 157.0 63.0| K6 K3 2#S+2 ¥3 130 141.0 79.0
INS= ¢K 90 1440 76.0(H10 H5 2¢ O-2 8 100 157.0 63.0( O6 02 2#S+2 2 130 141.0 79.0
INS= #3 90 1440 76.0(R10 R2 44 O-2 ¢A 100 157.0 63.0( F8 F4 2#S+2 ¢4 130 141.0 79.0
INS= ¢Q 90 1440 76.0|B13 Bl 44 O-2 ¢K 100 157.0 63.0| J8 J3 2#S+2 v2 130 141.0 79.0
INS= ¢K 90 1440 76.0(F15 F2 4v V-2 T 100 157.0 63.0| L8 L6 2#S+2 &2 130 141.0 79.0
INS= ¢K 90 1440 76.0(R15 R6 44 O-2 ¢A 100 157.0 63.0( M8 M6 3#S+1 ¥3 130 141.0 79.0
INS= ¢K 90 1440 76.0(B18 B4 44DO-1 ¢A 100 157.0 63.0| O8 O3 3#S+1 #2 130 141.0 79.0
INS= ¢K 90 1440 760 C2 C5 340-1 ¢A 50 117.0 103.0( F9 F14 24 S+2 3 130 141.0 79.0
INS= ¢K 90 1440 760 D2 D4 24 V-1 ¢K 50 117.0 103.0( L9 L1 2#S+2 2 130 141.0 79.0
INS= vJ 90 1440 760 H2 H4 4v V-1 ¢Q 50 117.0 103.0| M9 M1l 2#S+2 ¥3 130 141.0 79.0
INS= ¢K 90 1440 760 H3 H6 44 O-1 ¢A 50 117.0 103.0( Q9 Q2 3#S+1 v2 130 141.0 79.0
INS= ¢K 90 1440 760 N4 N7 34 O-1 ¢A 50 117.0 103.0( S9 S14 24 S+2 &2 130 141.0 79.0
3v V-1 #A 50 114.0 1060 O5 04 34 O-1 ¢K 50 117.0 103.0 | B10 B17 2# S+2 ¥3 130 141.0 79.0
3NV-1 ¢9 50 114.0 1060 K6 K1 34 O-1 ¢A 50 117.0 103.0 [ F10 F17 3#S+1 3 130 141.0 79.0
3v V-1 ¢9 50 114.0 106.0 N6 N5 34 O-1 ¢A 50 117.0 103.0 (G10 G17 2# S+2 2 130 141.0 79.0
3v V-1 +¢9 50 114.0 106.0( O6 0O2 34 O-1 +8 50 117.0 103.0 |K10 K9 2# S+2 v2 130 141.0 79.0
2v V-1 «Q 50 114.0 1060 Q6 Q5 44 O-1 +¢A 50 117.0 103.0(L10 L5 2#S+2 2 130 141.0 79.0
2v V-1 +9 50 114.0 106.0| D7 D8 44 O-1 ¢A 50 117.0 103.0 ([M10 M5 2# S+2 &2 130 141.0 79.0
2NV-1 »9 50 114.0 1060 F7 F3 4v V-1 ¢3 50 117.0 103.0 [G11 G6 2# S+2 &2 130 141.0 79.0
24 V-1 +9 50 114.0 106.0( O7 Ol 34 O-1 ¢A 50 117.0 103.0 (K12 K1 3#S+1 2 130 141.0 79.0
2NV-1 «Q 50 114.0 106.0 [ M8 M6 44 O-1 +8 50 117.0 103.0 (P12 P7 24 S+2 &2 130 141.0 79.0
2v V-1 ¢9 50 114.0 106.0 [ Q8 Q3 34 O-1 ¢4 50 117.0 103.0|B13 B2 2#S+2 ¥3 130 141.0 79.0
34 O-1 v4 50 114.0 106.0 | B9 B17 44 O-1 +8 50 117.0 103.0 [ F13 F2 3#S+1 &2 130 141.0 79.0
INV-1 T 50 114.0 1060 L9 L1 3vV-1 +Q 50 117.0 103.0 [R13 R2 2#S+2 &T 130 141.0 79.0
2NV-1 T 50 114.0 106.0| N9 N2 34 O-1 8 50 117.0 103.0|G15 G3 3#S+1 v2 130 141.0 79.0
2NV-1 «Q 50 114.0 106.0 [E10 E5 B 50 117.0 103.0( 115 14 24 S+2 &3 130 141.0 79.0
2NV-1 »T 50 114.0 106.0 [ F10 F5 44 O-1 ¢A 50 117.0 103.0 (B16 B7 3#S+1 &2 130 141.0 79.0
3v V-1 +¢9 50 114.0 106.0 ([M10 M5 34 O-1 ¢A 50 117.0 103.0|F18 F5 2#S+2 v2 130 141.0 79.0
2y V-1 v8 50 114.0 106.0 (P11 P6 34 O-1 ¢A 50 117.0 103.0 (G18 G5 3#S+1 2 130 141.0 79.0
24 V-1 49 50 114.0 106.0 ([B14 B8 44 O-1 ¢K 50 117.0 103.0 19 110 INN+1 v7 120 96.0 124.0
2v V-1 ¢9 50 114.0 106.0 [ 115 12 34 O-1 &9 50 117.0 103.0|S13 S2 INS+1 v2 120 96.0 124.0
-50 84.0 136.0|F18 F4 44 O-1 ¢A 50 117.0 103.0 ([R14 R8 INS+1 2 120 96.0 124.0

2NN-1 42 -50 84.0 136.0|G18 G4 34 O-1 K 50 117.0 103.0 11 I3 24 S= v2 110 73.0 147.0
3NN-1 &5 -50 84.0 136.0| L2 L11 5¢ S-1 «Q -100 87.0 133.0( D2 D4 2&#S+1 &7 110 73.0 147.0
INS-1 ¢K -50 84.0 136.0| B7 B3 4NS-1 K -100 87.0 133.0( A3 A2 3#S= &2 110 73.0 147.0
2NN-1 45 -50 84.0 136.0| C8 C14 5¢ S-1 vA -100 87.0 133.0( C3 C6 24 S= ¢4 110 73.0 147.0
2NN-1 &2 -50 84.0 136.0|B15 B2 5¢ N-1 T -100 87.0 133.0( S3 S6 2#S+1 2 110 73.0 147.0
1vy N-1 &2 -50 84.0 136.0| N3 N8 24 O= ¢A -110 78.0 1420 A4 Al 3#S= v2 110 73.0 147.0
3¢ S-1 &A -50 84.0 136.0| L4 L3 24 O= +K -110 78.0 1420( E4 E3 110 73.0 147.0
3#N-1 a5 -50 84.0 136.0| F6 F16 24 O= ¢A -110 78.0 1420 N6 N5 24 S= &8 110 73.0 147.0
3NN-1 42 -50 84.0 136.0| R8 R11 24 O= ¢A -110 78.0 1420 D7 D8 2#S+1 47 110 73.0 147.0
3#S-1 vK -50 84.0 136.0| J9 J2 24 O= +v8 -110 78.0 142.0| M7 M12 2# S+1 v3 110 73.0 147.0
lv V= ¢9 -80 68.0 152.0| P1 P12 24 O+1 ¢K -140 480 1720 G8 G4 3#S= #2 110 73.0 147.0
ly V= ¢9 -80 68.0 152.0| E2 El1 B -140 48.0 1720| Q8 Q3 3#S= v2 110 73.0 147.0
ly V= 9 -80 68.0 152.0| M2 M11 34 O= ¢A -140 48.0 172.0| B9 B14 24 S= ¢4 110 73.0 147.0
lv V= ¢9 -80 68.0 152.0| A4 Al 34 O= ¢A -140 48.0 1720| G9 G14 3#S= v2 110 73.0 147.0
ly V= «Q -80 68.0 152.0| K4 K10 34 O= +v8 -140 48.0 1720| H9 H1l 24 S= &2 110 73.0 147.0
2¢ S-2 vK -100 59.0 161.0| B6 B16 34 O= ¢A -140 48.0 172.0| P9 P16 24 N= #9 110 73.0 147.0
29 N-2 42 -100 59.0 161.0| E7 E12 B -140 48.0 172.0|R10 R5 24 S= T 110 73.0 147.0
3NN-2 42 -100 59.0 161.0| G7 G3 24 O+1 ¢A -140 480 1720|F16 F7 2#S+1 ¢3 110 73.0 147.0
3NN-2 &5 -100 59.0 161.0| P7 P13 24 O+1 ¢A -140 48.0 172.0|G16 G7 24 S= ¢4 110 73.0 147.0
2vV= &A -110 35.0 185.0 I8 19 3« O= ¢A -140 480 1720|P22 P6 3#S= v2 110 73.0 147.0
26 O= v4 -110 35.0 185.0| P8 P15 34 O= ¢K -140 480 1720 C1 C8 2#S= v3 90 40.0 180.0
2y V= 9 -110 35.0 185.0| D9 D1 34 O= 8 -140 48.0 1720| R1 R16 INS= v2 90 40.0 180.0
2v V= &2 -110 35.0 185.0| H9 H1l 34 O= 8 -140 48.0 172.0| E2 E1l1 90 40.0 180.0
lvy V41 &2 -110 35.0 185.0| M9 M1 24 O+1 ¢A -140 480 1720| P2 P13 24 S= v2 90 40.0 180.0
2y V= 46 -110 35.0 185.0| R9 R4 24 O+1 +8 -140 48.0 1720 J4 J7 INS= 2 90 40.0 180.0
-110 35.0 185.0|Q10 Q1 24 O+1 +6 -140 48.0 172.0| O7 Ol 2¢ S= v2 90 40.0 180.0

lv V+1 ¢3 -110 35.0 185.0 | F12 F11 24 O+1 ¢A -140 48.0 172.0 I8 111 2¢ S= v2 90 40.0 180.0
2y V= 9 -110 35.0 185.0| 113 14 34 O= ¢A -140 480 1720 J9 J2 2#S= ¥v3 90 40.0 180.0
2v V= 49 -110 35.0 185.0|S13 S1 34 O= 8 -140 48.0 172.0 | E10 E5 90 40.0 180.0
lv V+1 ¢9 -110 35.0 185.0|G14 G8 34 O= ¢A -140 480 172.0|S10 S11 2#S= v2 90 40.0 180.0
-110 35.0 185.0|R14 R7 34 O= 8 -140 48.0 172.0| 116 12 24 S= &2 90 40.0 180.0

2v V= 49 -110 35.0 185.0|G15 G2 24 O+1 +8 -140 48.0 172.0|B18 B5 2#S= v2 90 40.0 180.0
lv V+1 ¢9 -110 35.0 185.0| 116 11 34 O= ¢A -140 480 172.0|P21 P20 INS= +3 90 40.0 180.0
2v V= 9 -110 35.0 185.0|P20 P5 34 O= 8 -140 48.0 172.0| P4 P17 1¢ S= &T 70 26.0 194.0
lv V+1 49 -110 35.0 185.0| P22 P21 34 O= ¢A -140 480 1720| B1 B12 3NS-1 ¥3 -50 18.0 202.0
2y V= ¢3 -110 35.0 185.0| S2 S5 34 O+1 v8 -170 16.0 204.0| E8 E6 2¢ S-1 42 -50 18.0 202.0
2v V= +9 -110 35.0 185.0| D3 D6 34 O+1 ¢A -170 16.0 204.0| N9 N2 5#S-1 ¢3 -50 18.0 202.0
lvV+1 «Q -110 35.0 1850| K3 K9 34 O+1 ¢8 -170 16.0 204.0|C10 C11 3NS-1 3 -50 18.0 202.0
2y V= «Q -110 350 1850(| P4 P18 24 V+2 &K -170 16.0 204.0|H10 H5 3NN-1 8 -50 18.0 202.0
INV+1 v2 -120  14.0 206.0 | M7 M12 34 O+1 +8 -170 16.0 204.0|Q10 Q1 2NS-1 2 -50 18.0 202.0
3v V= +¢9 -140 12.0 208.0| G9 G17 24 O+2 ¢A -170 16.0 2040|P15 P3 24S-1 ¢2 -50 18.0 202.0
2y N-3 &5 -150 7.0 213.0|S12 S7 24 O+2 ¢A -170 16.0 2040| H3 H6 3NS-2 ¢3 -100 7.0 213.0
29y N-3 +5 -150 7.0 213.0| O8 O3 5¢DN-1 45 -200 6.0 2140| J6 J5 3NN-2 2 -100 7.0 213.0
2NV +1 T  -150 7.0 213.0| 111 16 5¢DN-1 T  -200 6.0 2140| Q6 Q5 3#S-2 v2 -100 7.0 213.0
2y N-3 &7 -150 7.0 213.0|R13 R1 5¢DN-1 T -200 6.0 214.0| 112 17 3NS-2 2 -100 7.0 213.0
BNN-4 42 -200 2.0 2180 |F13 F1 44DO= ¢A -590 2.0 2180| P8 P14 2v O= 46 -110 2.0 218.0
3¢DS-3 vK  -500 0.0 220.0|F14 F8 5# N-7 3 -700 0.0 220.0| C9 C14 3NS- v3 -150 0.0 220.0
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M4 - 134.2 M4 - 134.2 M4 - 134.2
Q4 - 64.7 Q4 - 64.7 Q4 - 64.7
H7 - 96.7 H7 - 96.7 H7 - 96.7
- L12 127.7 - L12 127.7 - L12 127.7
- El 125.8 - El 125.8 - El 125.8
- D5 89.5 - D5 89.5| R9 - 102.1
- A 133.7 - 133.7 - D5 89.5
- N1 110.5 - N1 110.5 - A 133.7
- P19 100.0 - P19 100.0 - N1 110.5
- C1 86.5 - C1 86.5 - P18 143.5
- G1 141.9 - G1 141.9 - C2 109.5
R16 - 88.4 R16 - 88.4 - G2 102.3
4 4 K83 Basta kontrakt 5 & KKn54 Basta kontrakt 6 4 E983 Basta kontrakt
Vast vE7 6y V =-1430 Nord v D6432 INT O =-90 Ost v75 44 SD-1-100
Alla + K6 NS 4962 ov ¢ 74
#KDKn1084 & ¢ v & NT &E & ¢ v & NT #EKKn43 & ¢ v & NT
+ 1064 & EDKn7 N7 2124 «E1087 &D32 N6 7 7 66 a2 4105 N9 2293
vKD109654 vKn S61114 vEKN9  vK85 S6 7766 vEKKn32 vD986 S92293
¢85 ¢EDKn102 O 6 1112116 +3 ¢ K10854 076567 ¢ KKn86 ¢ ED532 O 2 10102 2
*6 &E72 V 6 1112116 #108652 #KKn V7666 6 #952 #8386 V 2 10102 2
4952 496 4 KDKn764
v 832 v 107 v 104
49743 ¢ EDKn7 + 109
#953 #D9743 «D107
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
J5 J8 3NDO-3 49 800 2190 10| B2 Bl INO-4 #4 200 2190 10| M5 M4 44DN+19¥6 690 2170 3.0
S5 S7 3NDO-3 #9 800 2190 10| 17 114 24 V-4 &A 200 2190 10| 110 111 44DS+1 vK 690 2170 3.0
19 110 5NO-5 &3 500 2160 4.0| K6 K8 2¢ N+2 &2 170 216.0 40(|(F16 F8 44DS+1 vA 690 2170 3.0
Jl J3 3NO-4 &3 400 2100 100| E1 E7 B 150 201.0 19.0|P21 P6 44DS+1 vK 690 2170 3.0
D9 D2 3NO-4 &9 400 2100 10.0| J1 J3 INO-3 #3 150 2010 19.0| Al A3 44 S+1 vA 450 196.0 24.0
R11 R3 3NO-4 #9 400 2100 100| O1 O3 34V-3 &A 150 201.0 19.0| H3 H5 44 S+1 vA 450 196.0 24.0
G15 G3 3NO-4 &5 400 2100 100| E5 E4 B 150 201.0 19.0( N4 N9 44 S+1 vA 450 196.0 24.0
F16 F7 3NO-4 &9 400 2100 100| J5 J8 INO-3 #3 150 201.0 190 O4 08 44 S+1 vK 450 196.0 24.0
11 13 34 O-3 #9 300 198.0 220 R5 R7 2¢ O-3 T 150 201.0 19.0| S4 S7 44 S+1 vA 450 196.0 24.0
C3 C6 3NO-3 #3 300 198.0 220( D8 D1 24 V-3 ¢4 150 201.0 19.0| C5 C1 44 S+1 vA 450 196.0 24.0
K4 K11 3NO-3 #9 300 198.0 220 L8 L12 3NO-3 &3 150 201.0 19.0| N5 N8 44 S+1 vA 450 196.0 24.0
N4 N9 3NO-3 #3 300 198.0 220 M9 M2 INO-3 &7 150 201.0 19.0| S5 S1 44 S+1 vK 450 196.0 24.0
K5 K7 3NO-3 #9 300 198.0 22.0(E10 E6 2¢ O-3 49 150 201.0 19.0| F6 F18 44 S+1 vA 450 196.0 24.0
F13 F2 3NO-3 #3 300 198.0 22.0(S11 S12 34 V-3 &A 150 201.0 19.0| L8 L12 44 S+1 vA 450 196.0 24.0
B16 B7 3NO-3 #3 300 198.0 220(F12 F7 34V-3 &A 150 201.0 19.0| R8 R15 44 S+1 vA 450 196.0 24.0
M10 M6 3NO-2 #9 200 190.0 30.0(C14 C10 34 V-3 &A 150 201.0 19.0| B9 B5 44 S+1 42 450 196.0 24.0
D3 D5 34 O-1 #9 100 184.0 36.0 (P20 P19 3NO-3 T 150 201.0 19.0| Q9 Q4 44 S+1 vA 450 196.0 24.0
P4 P17 24 O-1 #9 100 184.0 36.0( P1 P22 2v N= ¢5 110 182.0 38.0 (K11 K10 44 S+1 vK 450 196.0 24.0
18 111 3NO-1 ¢3 100 184.0 36.0( R8 R15 2v N= «4Q 110 182.0 38.0(R11 R6 44 S+1 vA 450 196.0 24.0
H9 H2 4¢ O-1 3 100 1840 360 F9 F5 3#S= ¢3 110 182.0 38.0( 116 13 44 S+1 vA 450 196.0 24.0
Q9 Q4 4¢ O-1 #9 100 1840 36.0(R10 R1 2v N= 42 110 182.0 38.0(R16 R2 44 S+1 vK 450 196.0 24.0
H4 H7 INN= ¢A 90 177.0 43.0( 113 18 2¢ N= ¢5 110 182.0 38.0( 11 I5 5vDV-1 &«K 200 170.0 50.0
G10 G17 INN= vJ 90 177.0 43.0( 12 14 2NO-2 3 100 1520 68.0( D3 D5 5vDV-1 #A 200 170.0 50.0
P1 P11 2NN-1 vJ -100 174.0 46.0| S2 S9 2NV-2 44 100 152.0 68.0( E3 E11 200 170.0 50.0
Bl1l B6 3¢ O= &9 -110 172.0 48.0| L3 L11 24 V-2 #A 100 152.0 68.0( C4 C7 5vDV-1 &«A 200 170.0 50.0
S4 S12 4¢ O= &9 -130 169.0 51.0] N4 N9 INO-2 #3 100 152.0 68.0( E5 E4 200 170.0 50.0
D8 D1 3¢ O+1 &3 -130 169.0 51.0| O4 O8 3NO-2 T 100 152.0 68.0( R5 R7 24 S+3 vA 200 170.0 50.0
P21 P20 24 O+1 #3 -140 166.0 540| C5 C1 INO-2 #3 100 152.0 68.0(G12 G7 24 S+3 vA 200 170.0 50.0
E1 E7 -170 159.0 61.0( L5 L4 24 V-2 #A 100 152.0 68.0(Bl16 B8 5vDV-1 #A 200 170.0 50.0
N1 N3 3¢ O+3 &9 -170 159.0 61.0] N5 N8 2¢ O-2 49 100 152.0 68.0 (G17 G11 34 S+2 vA 200 170.0 50.0
Ql Q3 34 O+1 &9 -170 159.0 61.0| S5 S1 2¢ O-2 T 100 152.0 68.0( N1 N3 34 S= vA 140 136.0 84.0
S1 S8 34 O+1 &9 -170 159.0 61.0| G6 G18 INO-2 &4 100 1520 680 O1 O3 34 S= vA 140 136.0 84.0
L5 L4 3¢ O+3 &9 -170 159.0 61.0| O7 02 2¢ O-2 T 100 152.0 68.0( B2 Bl 24 S+1 vK 140 136.0 84.0
O7 Ol 2vV+2 &K -170 159.0 61.0| E8 E12 100 152.0 680 F2 F1 24 S+1 vA 140 136.0 84.0
M1 M7 2&N-2 ¢J -200 149.0 71.0| B9 B5 2NV-2 v2 100 1520 68.0( P3 P14 34 S= vK 140 136.0 84.0
E3 El1 -200 149.0 71.0| H9 H2 34 V-2 v4 100 1520 680 H4 H7 34 S= vA 140 136.0 84.0
M8 M12 3NN-2 ¢J -200 149.0 71.0| J9 J4 34 V-2 v2 100 152.0 68.0( P5 P18 34 S= vK 140 136.0 84.0
F11 F6 3vV+2 ¢A -200 149.0 71.0| L9 L2 INO-2 4 100 1520 680 C6 C8 34 S= vA 140 136.0 84.0
F1 F12 3vy V+3 &K -230 1420 78.0|H10 H6 24 V-2 A 100 1520 680 K6 K8 34 S= vK 140 136.0 84.0
A3 A2 3vV+3 &K -230 1420 78.0| 110 111 2¢ O-2 T 100 152.0 68.0( S6 S8 34 N= v6 140 136.0 84.0
P9 P16 2v V+4 #Q -230 142.0 78.0|K11 K10 2NV-2 2 100 1520 68.0| J7 J6 34 S= vA 140 136.0 84.0
F10 F17 3NS-3 %9 -300 138.0 82.0|R11 R6 2NO-2 T 100 152.0 68.0( K7 K4 24 S+1 vA 140 136.0 84.0
E5 E4 -500 133.0 87.0|K12 K2 2NO-2 ¥3 100 152.0 68.0( 19 112 34 S= vA 140 136.0 84.0
Q5 Q8 34DN-2 vJ -500 133.0 87.0(R13 R3 2¢ O-2 49 100 1520 680 L9 L2 34S= vA 140 136.0 84.0
C9 C14 3NN-5 T -500 1330 87.0|(B16 B8 INO-2 3 100 152.0 68.0(H10 H6 34 N= ¥8 140 136.0 84.0
R10 R5 3#DN-2 vJ -500 133.0 87.0|P16 P4 INO-2 #3 100 152.0 68.0(M10 M6 34 S= vA 140 136.0 84.0
D4 D7 3NO= 3 -600 126.0 94.0|R16 R2 34 V-2 #A 100 152.0 68.0(Q10 Q2 34 S= vA 140 136.0 84.0
J9 J4 5¢ O= &5 -600 1260 94.0| AL A3 24 V-1 2 50 96.0 1240 (R10 R1 34 S= vA 140 136.0 84.0
S10 S11 3NO= 43 -600 126.0 94.0| M1 M7 2NV-1 43 50 96.0 124.0 (C11 C12 24 S+1 vA 140 136.0 84.0
Gl6 G7 44 O= &9 -620 122.0 98.0| N1 N3 2v O-1 49 50 96.0 1240 (B13 B3 34 S= vA 140 136.0 84.0
Bl B12 3NO+1 ¢4 -630 120.0 1000 C2 C9 INO-1 &4 50 96.0 124. 113 18 24 S+1 6 140 136.0 84.0
M5 M4 4v V+1 &K  -650 112.0 108.0| P2 P12 INO-1 3 50 96.0 124.0 (P13 P8 34 S= vK 140 136.0 84.0
N5 N8 4v V+1 &K -650 112.0 108.0| E3 E1l1 50 96.0 124.0(S13 S3 34 S= vA 140 136.0 84.0
O5 04 4vV+1l &K -650 112.0 108.0| K3 K9 24 V-1 #A 50 96.0 124.0 (G14 G10 34 S= vA 140 136.0 84.0
16 113 4v V+1 &K -650 112.0 108.0| G4 G15 INO-1 &4 50 96.0 124.0 (B17 B11l 34 S= vK 140 136.0 84.0
B9 B14 4y V+1 43 -650 112.0 1080 H4 H7 INO-1 &4 50 96.0 124.0| L3 L11 5¢ O-1 4K 100 107.0 113.0
B15 B3 4v V+1 &K -650 112.0 108.0| M5 M4 INO-1 3 50 96.0 1240 K5 K1 5vO0-1 &A 100 107.0 113.0
F18 F5 4v V+1 &K -650 112.0 108.0| Q5 Q8 INO-1 &4 50 96.0 124.0( G6 G18 5v V-1 &A 100 107.0 113.0
S9 S14 3NO+2 +¢9 -660 104.0 116.0 | B6 B18 24 V-1 #A 50 96.0 124.0| 115 16 5v V-1 4A 100 107.0 113.0
Gl G12 4vy O+2 #K -680 75.0 1450 O6 O5 INO-1 &3 50 96.0 1240 E1 E7 -50 69.0 151.0
K2 K8 4y V+2 #K -680 750 1450| S6 S8 INO-1 &4 50 96.0 124.0 | M1 M7 44 S-1 vA -50 69.0 151.0
R4 R6 4y V+2 #K -680 75.0 145.0| J7 J6 INO-1 43 50 96.0 1240 P1 P22 44 S-1 YA -50 69.0 151.0
K6 K3 4y V+2 #K -680 750 1450 K7 K4 INO-1 &3 50 96.0 1240 S2 S9 44 S-1 YA -50 69.0 151.0
06 02 4vV+2 &K -680 75.0 145.0| N7 N6 24 V-1 #A 50 96.0 124.0| K3 K9 24 S-1 ¥vA -50 69.0 151.0
J7 J6 4v V+2 43 680 750 145.0| M8 M12 INO-1 &7 50 96.0 124.0| A4 A2 44 S-1 vK -50 69.0 151.0
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R7 R15 4y V+2 &T -680 75.0 1450 G9 G5 INO-1 #3 50 96.0 124.0| F4 F15 44 S-1 vK -50 69.0 151.0
B8 B4 4vV+2 #K -680 750 1450| 19 112 INO-1 7 50 96.0 124.0| G4 G15 44 S-1 vK -50 69.0 151.0
E8 E12 -680 75.0 1450 Q9 Q4 24 V-1 #A 50 96.0 124.0| J5 J8 44 S-1 vA -50 69.0 151.0
F8 F4 4vV+2 &K -680 75.0 1450 R9 R14 INO-1 v4 50 96.0 124.0| L5 L4 44 S-1 K -50 69.0 151.0
L8 L12 4vV+2 «K -680 75.0 145.0|M10 M6 34 V-1 #A 50 96.0 124.0 | B6 B18 44 S-1 +¢K -50 69.0 151.0
08 O3 4vV+2 &K -680 750 145.0(Cl11 C12 INO-1 #3 50 96.0 124.0| 17 114 44 S-1 vA -50 69.0 151.0
P8 P14 4v V+2 &K -680 750 1450|Bl12 B7 14 O-1 #4 50 96.0 124.0| O7 02 44 S-1 vK -50 69.0 151.0
F9 F14 4y V+2 &K -680 75.0 145.0(G12 G7 24 V-1 #A 50 96.0 124.0| D8 D1 44 S-1 +¢6 -50 69.0 151.0
L9 L2 4vV+2 #K -680 75.0 1450|P13 P8 24 V-1 #A 50 96.0 124.0| E8 EI12 -50 69.0 151.0
M9 M2 4v V+2 &K -680 75.0 145.0(B14 B10 24 V-1 &A 50 96.0 124.0 | M8 M12 44 S-1 vA -50 69.0 151.0
C10 C11 4vV+2 «K -680 750 1450|S14 S10 INO-1 #4 50 96.0 124.0| D9 D2 44 S-1 vA -50 69.0 151.0
K10 K9 4y V+2 #Q -680 750 1450( 115 16 3NO-1 T 50 96.0 1240| F9 F5 44 S-1 vA -50 69.0 151.0
K12 Kl 4v V+2 &K -680 750 1450|F17 F11 24 V-1 2 50 96.0 124.0| M9 M2 44 S-1 vA -50 69.0 151.0
P12 P7 4v V+2 &K -680 75.0 1450 F4 F15 Pass 62.0 158.0( P9 P15 44 S-1 vA -50 69.0 151.0
R13 R2 4vV+2 #K -680 75.0 145.0| 116 I3 Pass 62.0 158.0| R9 R14 44 S-1 YA -50 69.0 151.0
S13 S2 4vV+2 ¢6 -680 75.0 145.0(B17 Bll Pass 62.0 158.0 ([E10 E6 44 S-1 vA -50 69.0 151.0
114 15 4v V+2 &K -680 750 1450( 11 15 INV= ¢33 -90 52.0 168.0|L10 L6 44 S-1 vA -50 69.0 151.0
R14 R8 4y V+2 #K -680 75.0 1450| F2 F1 INO= +¢A -90 52.0 168.0|S11 S12 44 S-1 vA -50 69.0 151.0
F15 F3 4y V+2 &K -680 75.0 145.0| G2 G1 INO= ¢7 -90 52.0 168.0|F12 F7 44 S-1 ©vA -50 69.0 151.0
115 14 4v V+2 &K -680 750 145.0( D3 D5 INO= 7 -90 52.0 168.0|K12 K2 44 N-1 v6 -50 69.0 151.0
116 12 4v V+2 &K -680 750 145.0(L10 L6 INO= 4 -90 520 168.0|F13 F3 44 N-1 v8 -50 69.0 151.0
P22 P6 4vV+2 &K -680 750 1450|S13 S3 INV= 6 -90 52.0 168.0|R13 R3 44 S-1 vA -50 69.0 151.0
C4 C12 4vy O+3 #3 -710 46.0 174.0|F14 F10 INO= &7 -90 52.0 168.0|B14 B10 44 S-1 vK -50 69.0 151.0
A4 Al 3#DN-3 vJ -800 38.0 182.0| Q1 Q3 2¢vN-1 ¢4 -100 40.0 180.0|C14 C10 44 N-1 +8 -50 69.0 151.0
P5 P19 44DN-3 vJ -800 38.0 1820| F6 F18 2vy N-1 42 -100 40.0 180.0|G16 G8 44 N-1 v6 -50 69.0 151.0
B10 B17 5#4DN-3 vJ  -800 38.0 1820 P9 P15 2NS-1 #2 -100 40.0 180.0|P16 P4 44 S-1 ©vA -50 69.0 151.0
Q10 Q2 44DN-3 vJ -800 38.0 182.0|(P11 P7 2v N-1 48 -100 400 180.0(F17 F11 44 S-1 vA -50 69.0 151.0
Gll G6 4#DN-3 vJ -800 38.0 182.0|G17 G11 2v N-1 42 -100 400 180.0 (P20 P19 44 N-1 ¥vA -50 69.0 151.0
B13 B2 44#DN-3 vJ -800 380 1820| H3 H5 INO+1 #3 -120 25.0 1950| P2 P12 44 S-2 vA -100 31.0 189.0
P15 P3 44DN-3 vJ -800 380 1820| C4 C7 INO+1 3 -120 25.0 1950| N7 N6 44DS-1 vA -100 31.0 189.0
C5 C7 4vyDV+1 &K -990 29.0 191.0| D4 D7 INO+1 ¢J -120 25.0 195.0| G9 G5 44DS-1 ¢2 -100 31.0 189.0
B18 B5 4vDV+1 T -990 29.0 1910| S4 S7 INV+l ¢2 -120 25.0 1950|F14 F10 44DN-1 vA -100 31.0 189.0
L10 L6 5vDV+1 «K -1050 26.0 1940| K5 K1 INO+1 #4 -120 25.0 1950| J1 J3 4¢ O+1 &K -150 26.0 194.0
P2 P13 44DN-4 vJ -1100 22.0 198.0| P5 P18 INO+1 &7 -120 25.0 195.0| B4 B15 2v V+2 &K -170 23.0 197.0
H3 H5 44DN-4 vJ -1100 22.0 198.0|F13 F3 2NV= 44 -120 250 1950 D4 D7 3vV+1l &3 -170 23.0 197.0
S3 S6 44DN-4 vJ -1100 220 198.0|G14 G10 INO+1 A -120 25.0 195.0|B12 B7 44DS-2 vK -300 20.0 200.0
L3 L11 3vyDV+2 «K -1130 18.0 202.0|F16 F8 INO+1 ¢7 -120 25.0 1950 Q1 Q3 4vV= sA -620 11.0 209.0
G8 G4 3NDO+245 -1150 16.0 2040|G16 G8 INO+1 #4 -120 25.01950| C2 C9 4v V= #A -620 11.0 209.0
R1 R16 4vyDV+2 #K -1190 13.0 207.0|(Q10 Q2 2NO+1 «7 -150 13.0 207.0| G2 G1 4v V= 3 -620 11.0 209.0
H10 H6 4vDV+2 «K -1190 13.0 207.0|P21 P6 INO+2 &3 -150 13.0 2070 12 14 4vV= sA -620 11.0 209.0
112 17 3vDV+3 #K -1330 10.0 210.0|( P3 P14 2v N-2 43  -200 6.0 2140 Q5 Q8 4vV= «K -620 11.0 209.0
E10 E6 5#DN-5 vJ -1400 8.0 2120 A4 A2 2vy N-2 «2 -200 6.0 2140 O6 O5 4v O= &K -620 11.0 209.0
G9 G14 6v V= &K -1430 50 2150 B4 B15 3NS-2 +3 -200 6.0 2140 (P11 P7 4vV= &A -620 11.0 209.0
G18 G5 6y V= &K -1430 50 2150 C6 C8 2NS-2 2 -200 6.0 214.0(S14 S10 4v V= &A -620 11.0 209.0
N7 N6 4¢DS-7 vK -2000 202180 D9 D2 2vS-2 43 -200 6.0 2140( J9 J4 4vV+1l #A  -650 2.0 218.0
Cl C8 4¢DS-8 vK -2300 0.0 220.0(B13 B3 2y N-3 ¢4  -300 0.0 2200 H9 H2 5¢DO= «K -750 0.0 220.0
L1 - 71.6 L1 - 71.6 L1 - 71.6
- M11 101.9 - M11 101.9 - M11 101.9
- Q6 81.8 - Q6 81.8 - Q6 81.8
- Hl 110.4 - Hl 110.4 - Hl 110.4
- E2 76.1 - E2 76.1 - E2 76.1
R9 - 102.1 - D6 116.1 - D6 116.1
- D6 116.1 - )2 117.8 - )2 117.8
- J2 117.8 - N2 123.4 - N2 123.4
- N2 123.4 - P17 79.8 - P17 79.8
- P18 143.5 - R4 103.8 - R4 103.8
- C2 109.5 - C3 118.8 - C3 118.8
- G2 102.3 - G3 95.1 - G3 95.1
7 # Kn10642 Basta kontrakt 8 Ly Basta kontrakt 9 «ED76 Basta kontrakt
Syd v972 5NT O =-660 Vast v94 ANT V =-430 Nord v10 64 N =980
Alla ¢- Ingen 49543 ov + EKn8
#75432 & ¢ v &4 NT #Kn98543 & ¢ v & NT #EDKN96 & ¢ v & NT
K5 « E£987 N7 266 2 D10 « K9876 N7 6443 4 Kn9 41052 N 128 5 128
v10 v KKn5 S7266 2 vD1083 ¥vET75 S76443 vKD765 vE932 S 128 5 128
¢ KKn109864 ¢ D7532 05 116 7 11 ¢ KKn87 ¢ 62 067 89 10 ¢ K6542 ¢ 97 015711
#EKD *6 V5 116 7 7 *762 #EKD V678910 *4 #10732 vis5711
«D3 # EKn532 4 K843
v ED8643 v KKn62 v Kng84
¢E ¢ ED10 + D103
#Kn1098 «10 #K85
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
M1 M12 44 O-3 vA 300 2200 00| L6 L5 4vV-3 44 150 2200 00| 14 16 64S= vK 980 2190 1.0
H4 H6 6eDV-1 v2 200 2170 3.0| O7 O2 2v S+1 7 140 2180 20(|Gll G7 64 S= #4 980 2190 1.0
S7 S9 6¢DV-1 v9 200 2170 3.0(B15 B5 INS+1 7 120 2160 4.0| E1l E12 480 1655 545
C7 C9 64 V-1 ¥9 100 2130 70| D1 D2 3NO-2 42 100 211.0 9.0 H1 H2 44 S+2 #4 480 1655 545
K7 K9 6¢ V-1 9 100 2130 70| HL H2 2NO-2 T 100 211.0 9.0| J1 J5 44 S+2 vK 480 1655 545
E1l E12 -150 192.0 28.0( P1 P21 4vDO-1 T 100 2110 90| M1 M12 44 S+2 #4 480 1655 545
Gl G8 4¢ V+1 «J -150 1920 280 (|F14 F11 2¢ V-2 v9 100 211.0 90| Pl P20 44 S+2 #4 480 1655 545
Q2 Q4 3¢ O+2 v9 -150 1920 28.0( 12 16 34 O-1 &T 50 1940 260| A2 Al 44 N+2 vA 480 1655 545
P3 P13 4¢ V+1 v9 -150 1920 28.0| J2 J4 3NV-1 4 50 1940 26.0| B2 B9 44 S+2 vK 480 1655 545
C6 C2 4¢V+1l 99 -150 1920 280| F3 F2 2¢yV-1 «4 50 1940 26.0| E2 E8 480 1655 545
J6 J9 44 O+1 v2  -150 192.0 28.0| R3 R16 2NO-1 T 50 1940 26.0( F2 F9 44 N+2 49 480 1655 545
P6 P20 4¢ V+1 2 -150 192.0 28.0| K4 K10 3NV-1 &5 50 1940 26.0| 12 I8 44 S+2 v6 480 1655 545
I8 115 2¢ V+3 ¢v9 -150 1920 28.0| E6 E5 50 1940 26.0| J2 J4 44 S+2 &4 480 1655 545
E1l E4 4¢ V+1 v2 -150 1920 280 P6 P20 3NV-1 #9 50 1940 26.0| K2 K1 44 S+2 &4 480 1655 545
L11 L4 3¢ V+2 v9 -150 1920 280 H9 H3 2NV-1 #8 50 1940 26.0| M2 M8 44 S+2 &4 480 1655 545
R11 R2 4¢ V+1 97 -150 1920 28.0|F10 F6 34 O-1 T 50 1940 26.0( N2 N4 44 N+2 ¢9 480 1655 545
K12 K3 3¢ V+2 v2 -150 1920 280 (|L11 L4 44 O-1 &J 50 1940 26.0| O2 O4 44 N+2 ¢9 480 1655 545
B14 B1l 3¢ V+2 v2  -150 1920 280 |Kl12 K3 3NO-1 43 50 1940 26.0| I3 17 44 S+2 #4 480 1655 545
F14 F11 4¢ V+1 v9  -150 192.0 28.0(B14 B11l 2v V-1 44 50 1940 26.0| P3 P12 54 S+1 #4 480 1655 545
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H5 - 130.6 H5 - 130.6 Q8 - 1334
Q8 - 1334 Q8 - 1334 - E3 109.9
- E3 109.9 - E3 109.9 | M9 - 118.7
M9 - 118.7 M9 - 118.7 - D7 113.9
- D7 113.9 - D7 113.9 - J3 107.0
- J3 107.0 - J3 107.0 | L10 - 115.1
L10 - 1151 L10 - 1151 - N3 102.6
- N3 102.6 - N3 102.6 - R3 110.2
- P16 110.0 - P16 110.0 - C5 113.3
- R7 110.2 - R7 110.2 - G5 122.3
- C4 121.2 - C4 121.2 | P15 - 128.1
- G4 107.0 - G4 107.0| C4 C11 A=/A= 110.0 110.0
10 4 D762 Basta kontrakt 11 4 E1054 Basta kontrakt 12 410975 Basta kontrakt
Ost v Kn65 3NT O =-600 Syd v E53 5v S =450 Vast v KKn876 24 N =110
Alla 4642 Ingen + EKn86 NS * K7
#632 & ¢ v & NT »107 & ¢ v & NT #E3 & ¢ v & NT
« KKn95 4 E108 N3 4434 «D3 & KKn87 N5 9 119 8 & K2 « DKn4 N56 887
vE1097 vK3 S 34434 v D6 v 82 S5 9 119 8 v 542 vE93 S56887
+ K10 ¢ DKn87 O 109 8 9 9 ¢ K742 53 082142 ¢ EKn84 #1062 077545
#975 #DKn104 vV 109 8 9 9 #65432 &#EKDKN8 VvV 8 2 1 4 2 #Kn1097 #K652 V77545
443 # 962 » E863
v D842 v KKn10974 vD10
¢ E953 + D109 + D953
#EK8 «9 «D84
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
P18 P17 3NV-2 42 200 2200 0.0|M11 M5 44DV-6 vA 1400 2200 O0.0|F14 F1 INS+3 #J 180 2190 1.0
E3 E1 B 150 2180 20| Q9 Q8 2vDS+2+¢2 670 2180 2.0|B16 B1l INN+3 T 180 219.0 1.0
L3 L1 3NO-1 3 100 2160 4.0| F2 F17 4¢DS= #2 590 2160 40| R3 R7 24 N+2 &2 170 2150 5.0
J3 J5 1lvV= 46 -80 2140 6.0| A2 Al 54DO-3 ¢9 500 209.0 11.0( D5 D7 24 S+2 2 170 2150 5.0
G2 G9 2¢ O+1 43 -110 2090 11.0( Q3 Q5 5#4DO-3 vK 500 209.0 11.0| Q2 Q6 INS+2 ¢A 150 211.0 9.0
N7 N1 2v V= 42 -110 209.0 110| G5 G4 5#DO-3 v2 500 2090 11.0| K9 K11 INS+2 ¢4 150 211.0 9.0
R7 R9 2#0+1 ¥4 -110 209.0 11.0| H6 H1l 54DO-3 v4 500 209.0 11.0| S5 S12 24 S+1 ¢4 140 202.0 18.0
Q10 Q4 24V= v5 -110 2090 11.0(L10 L8 54DO-3 ¢9 500 209.0 11.0| P8 P22 34 N= &5 140 2020 18.0
Q2 Q6 INV+1 6 -120 1940 26.0|G15 G7 5#4DO-3 ¢9 500 2090 11.0| S8 S4 24 S+1 ¢4 140 202.0 180
P3 P12 INO+1 ¢3 -120 1940 26.0| D2 D3 4y S+1 #2 450 188.0 320(L10 L8 34 N= &2 140 202.0 18.0
H5 H7 INO+1 5 -120 1940 26.0| Q2 Q6 4y S+1 2 450 188.0 32.0|F12 F8 24 N+1 6 140 202.0 18.0
K5 K11 2NO= ¢3 -120 1940 26.0| B3 B10 4y S+1 «Q 450 188.0 32.0({G15 G7 24 S+1 &J 140 202.0 18.0
N6 N2 INO+1 44  -120 1940 26.0| 14 I8 4vy S+1 ¢2 450 188.0 32.0|G18 G9 24 S+1 ¢A 140 202.0 18.0
S7 S3 2NO= 2 -120 194.0 26.0( O7 O3 4y S+1 #6 450 188.0 320 R1 R4 INS+1 &J 120 193.0 27.0
08 05 2NO= v4 -120 1940 26.0| S7 S10 4y S+1 &6 450 188.0 320| F5 F4 INS+1 &J 120 193.0 27.0
F11 F7 2NO= ¢5 -120 1940 26.0| S8 S4 4v N+1 &A 450 188.0 32.0( 11 111 24 S= &J 110 153.0 67.0
L11 L5 2NV= vJ -120 1940 26.0| C9 Cl11 4y N+1 #A 450 188.0 32.0| O1 O6 24 S= &J 110 153.0 67.0
M12 M2 INO+1 #A -120 1940 26.0( K9 K11l 4v N+1 &A 450 188.0 32.0( P1 P19 24 S= &9 110 153.0 67.0
F14 F12 INO+1 ¢5 -120 1940 26.0|R11 R15 4v S+1 «Q 450 188.0 32.0| S1 S14 24 S= v2 110 153.0 67.0
P5 P16 24 V+1 46  -140 1780 42.0|F12 F8 4v S+1 &2 450 188.0 32.0| A2 Al 24S= &J 110 153.0 67.0
M7 M6 34 O= &A -140 178.0 42.0|M12 M2 4y N+1 #A 450 188.0 320 C2 C3 24 S= &J 110 153.0 67.0
C8 C10 24 V+1 &2 -140 178.0 42.0|R13 R6 4y N+1 #A 450 188.0 32.0| P2 P21 24 S= &J 110 153.0 67.0
D9 D4 24 V+1 ¢5 -140 178.0 42.0|B16 Bll 4y S+1 «Q 450 188.0 32.0| F3 F10 24 N= &J 110 153.0 67.0
E12 E2 24 V+1 6 -140 178.0 42.0|G18 G9 4v S+1 43 450 188.0 320( I3 19 24 S= ¢4 110 153.0 67.0
P1 P20 2NO+1 ¢3 -150 1470 73.0| R1 R4 4vS= «Q 420 1640 56.0( L3 L1 24 S= &9 110 153.0 67.0
R1 R8 INO+2 #A -150 147.0 73.0| R3 R7 4vy S= ¢4 420 164.0 56.0| N3 N5 24 S= &J 110 153.0 67.0
S1 S2 2NO+1 3 -150 147.0 730 F5 F4 4v S= 4Q 420 1640 56.0( 4 18 24 S= ¢4 110 153.0 67.0
2 18 2NO+1 #2 -150 147.0 73.0| C8 C4 4vy N= #A 420 164.0 56.0( C5 Cl12 24 S= &9 110 153.0 67.0
P2 P22 INO+2 #8 -150 147.0 73.0| S9 S11 4v S= 4Q 420 164.0 56.0| R5 R16 24 S= ¢A 110 153.0 67.0
N3 N5 INO+2 ¢3 -150 147.0 73.0|Q10 Q4 4vy S= #4 420 1640 56.0( H6 H1 24 S= &J 110 153.0 67.0
A4 A3 2NO+1 &A -150 147.0 73.0| 112 115 4y S= #6 420 164.0 56.0( K6 K1 24 S= ¢4 110 153.0 67.0
C4 Cl11 INO+2 ¥2 -150 147.0 73.0|G1l4 G1 4v S= 4Q 420 164.0 56.0| N6 N2 24 S= &J 110 153.0 67.0
F4 F3 INO+2 4 -150 147.0 73.0|F15 F7 4v S= ¢4 420 1640 56.0( C7 C10 24 S= +¢8 110 153.0 67.0
14 16 2NO+1 #2 -150 147.0 73.0| Cl1 Cl14 54D O-2 vK 300 149.0 71.0( N7 N1 24 S= &J 110 153.0 67.0
S4 S11 2NO+1 &K -150 147.0 73.0( P1 P19 54D O-2 42 300 149.0 71.0| O7 O3 24 S= &J 110 153.0 67.0
S6 S9 2NO+1 3 -150 147.0 73.0( E3 E1 . 300 149.0 710 P7 P20 24 S= v2 110 153.0 67.0
S8 S10 2NO+1 «#K  -150 147.0 73.0| A4 A3 44DO-2 v9 300 149.0 710 C8 C4 24 S= ¢4 110 153.0 67.0
J9 J8 2NO+1 ¥4  -150 147.0 73.0| K6 Kl 4#DV-2 vA 300 149.0 710 K8 K4 24 S= &J 110 153.0 67.0
L9 L4 INO+2 &A -150 1470 73.0|E10 E8 54D O-2 ¢9 300 1490 71.0( R8 R10 24 S= &J 110 153.0 67.0
N9 N8 INV+2 42 -150 147.0 73.0| P3 P11 34 O-5 #9 250 142.0 78.0| C9 Cl11l 24 S= &J 110 153.0 67.0
B10 B16 INO+2 &K -150 147.0 730 D9 D4 2y S+4 ¢2 230 140.0 80.0| H9 H4 24 S= &J 110 153.0 67.0
Gll1 G7 INO+2 #A -150 1470 73.0| S1 S14 3v S+2 #6 200 130.0 90.0( M9 M4 24 S= &J 110 153.0 67.0
P11 P8 2NO+1 &K -150 147.0 73.0| J2 J6 2vy N+3 #A 200 130.0 90.0( N9 N8 24 S= ¢4 110 153.0 67.0
Cl2 C14 2NV +1 46 -150 1470 73.0| R5 R16 2v N+3 &A 200 130.0 90.0(E10 E8 24 S= ¢8 110 153.0 67.0
K12 K4 2NO+1 &A -150 1470 73.0| D6 D1 3v S+2 43 200 130.0 90.0 (K10 K7 24 S= &J 110 153.0 67.0
S12 S14 2NO+1 &A  -150 147.0 73.0| N6 N2 2y N+3 #A 200 130.0 90.0 (R11 R15 24 S= &J 110 153.0 67.0
S13 S5 2NO+1 #8 -150 147.0 73.0( P7 P20 3y S+2 #2 200 130.0 90.0|B12 B8 24 S= &J 110 153.0 67.0
B14 B12 INO+2 &A -150 147.0 73.0| K8 K4 2vy N+3 #A 200 130.0 90.0(G12 G8 24 S= &J 110 153.0 67.0
R15 R10 INO+2 ¢3 -150 1470 73.0( J9 J8 2¢v S+3 &2 200 130.0 90.0 (K12 K5 24 S= &J 110 153.0 67.0
116 15 2NO+1 ¢5 -150 147.0 73.0(F16 F11l 3vy S+2 4Q 200 130.0 90.0(R13 R6 24 S= &J 110 153.0 67.0
A2 Al 2NO+2 v4  -180 98.0 122.0| B2 B17 2vy S+2 4Q 170 116.0 104.0 (B15 B7 24 S= &J 110 153.0 67.0
D2 D3 INO+3 2 -180 98.0 122.0| C2 C3 3v S+1 #4 170 116.0 104.0( 116 16 24 S= &5 110 153.0 67.0
K2 K1 INO+3 ¢3 -180 98.0 1220 G2 G17 3v S+1 «Q 170 116.0 104.0| P18 P6 24 S= &T 110 153.0 67.0
Q3 Q5 INO+3 &K -180 98.0 122.0| 13 19 3v S+1 ¢2 170 116.0 1040 E7 E6 80 114.0 106.0
P4 P14 INO+3 ¢3 -180 98.0 1220 110 12 3y S+1 «Q 170 116.0 104.0 [E11 E5 2¢ V-1 &A 50 112.0 108.0
D5 D7 INO+3 2 -180 98.0 1220 H2 H3 5#0-3 vJ 150 109.0 111.0| C1 C14 Pass 84.0 136.0
D6 D1 2NO+2 2 -180 98.0 1220 L9 L4 540-3 ¢Q 150 109.0 111.0 | F2 F17 Pass 84.0 136.
J7 J1 INO+3 ¥2 -180 98.0 122.0| F3 F10 3v S= #4 140 105.0 115.0( B3 B10 Pass 84.0 136.0
K8 K10 2NO+2 &K -180 98.0 122.0| S5 S12 3v N= &A 140 105.0 115.0( G3 G10 Pass 84.0 136.0
F10 F16 2NO+2 &A -180 98.0 1220| R2 R9 54 0-2 +J 100 79.0 141.0| J3 J5 Pass 84.0 136.0
L10 L8 2NO+2 &K -180 98.0 122.0| S2 S3 5#4DO-1 ¢9 100 79.0 141.0| K3 K2 Pass 84.0 136.0
M10 M8 INO+3 &A -180 98.0 122.0| L3 L1 540-2 ¥4 100 79.0 141.0| P4 P13 Pass 84.0 136.0
E1l E5 INO+3 3 -180 98.0 1220| D5 D7 4#0-2 vK 100 79.0 141.0| B5 B4 Pass 84.0 136.0
111 114 2NO+2 &A -180 98.0 122.0| H5 H7 44 0O0-2 #9 100 79.0 141.0| G5 G4 Pass 84.0 136.0
112 113 2NV +2 5 -180 98.0 122.0| P5 P15 44 0-2 +Q 100 79.0 141.0| H5 H7 Pass 84.0 136.0
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L12 L2 2NO+2 #8 -180 98.0 1220 O8 O5 5#0-2 vK 100 79.0 141.0( P5 P15 Pass 84.0 136.0
P13 P9 2NO+2 #A -180 98.0 1220 H9 H4 54DO-1 vT 100 79.0 141.0( M7 M6 Pass 84.0 136.0
R13 R5 INO+3 44 -180 98.0 122.0| M9 M4 4&V-2 vA 100 79.0 1410 L9 L4 Pass 84.0 136.0
R14 R11 2NO+2 v2 -180 98.0 122.0| N9 N8 5#0-2 v9 100 79.0 141.0( Q9 Q8 Pass 84.0 136.0
B15 B6 INO+3 44 -180 98.0 1220|K10 K7 5#0-2 vJ 100 79.0 141.0( S9 S11 Pass 84.0 136.0
F15 F6 2NO+2 44  -180 98.0 122.0(B12 B8 4#0O-2 T 100 79.0 141.0 (M10 M8 Pass 84.0 136.0
G15 G6 2NO+2 «4  -180 98.0 122.0(E12 E2 4#0-2 v9 100 79.0 141.0( L11 L5 Pass 84.0 136.0
F17 F1 2NO+2 ¢3 -180 98.0 122.0(G12 G8 5#0-2 +9 100 79.0 141.0 (M11 M5 Pass 84.0 136.0
G17 G1 INO+4 44 -210 740 146.0|(K12 K5 4#0-2 T 100 79.0 141.0( L12 L2 Pass 84.0 136.0
I3 17 INS-3 v7 -300 710 1490|L12 L2 4#0-2 v4 100 79.0 141.0 (M12 M2 Pass 84.0 136.0
B1l B7 2vS-3 ¢K -300 710 1490(P12 P9 34 O-2 9 100 79.0 141.0 (B13 B6 Pass 84.0 136.0
B2 B9 INS-4 #9 -400 680 152.0| 113 114 4#0-2 vK 100 79.0 141.0|S13 S6 Pass 84.0 136.0
F2 F9 3NV= v5 -600 49.0 171.0(B15 B7 4#V-2 vA 100 79.0 141.0 (B14 Bl Pass 84.0 136.0
H2 H3 3NO= ¢3 -600 49.0 171.0(G16 G11 5#V-2 9 100 79.0 141.0 | F15 F7 Pass 84.0 136.0
R2 R6 3NO= ¢3 -600 49.0 1710|116 16 5#40-2 2 100 79.0 141.0 |G16 G11 Pass 84.0 136.0
G4 G3 3NO= &K -600 49.0 171.0(B18 B9 5#DO-1 «+Q 100 79.0 141.0 (P17 P16 Pass 84.0 136.0
C6 C9 3NO= v2 -600 49.0171.0|F18 F9 4#V-2 vA 100 79.0 141.0 | F18 F9 Pass 84.0 136.0
P7 P21 3NO= #A -600 49.0 171.0|P18 P6 3#DO-1 46 100 79.0 141.0( B2 B17 34 S-1 #J -100 43.0 177.0
H9 H4 3NO= ¢5 -600 49.0 1710 11 111 440-1 vK 50 42,0 178.0| H2 H3 3NS-1 #J -100 430 177.0
E1I0 E8 3NO= &K -600 49.0 1710 J3 J5 3#0-1 +Q 50 420 178.0| S2 S3 34 S-1 #J -100 430 177.0
G10 G16 3NO= 5 -600 49.0 1710 I5 17 3#0-1 T 50 42.0 1780 A4 A3 24 S-1 #J -100 430 177.0
M11 M5 3NO= 2 -600 49.0171.0| C7 C10 4#0-1 v7 50 42,0 178.0| D6 D1 44 S-1 +A -100 430 177.0
B13 B5 3NV= vJ -600 49.0 1710 J7 J1 4#0-1 +9 50 420 178.0| J7 J1 34 S-1 #J -100 430 177.0
F13 F5 3NO= #A -600 49.0 1710 M7 M6 3#0-1 ¢Q 50 42.0 178.0| S7 S10 3NS-1 ¢4 -100 43.0 177.0
G14 G12 3NV= v5 -600 49.0 171.0| R8 R10 4#0-1 +9 50 42,0 178.0| O8 O5 34 S-1 #J -100 430 177.0
115 110 BNO= #A -600 49.0 171.0(E11 E5 4#0-1 7 50 42.0 178.0| D9 D4 44 S-1 #9 -100 430 177.0
B17 Bl1 3NO= #A -600 49.0 1710(|L11 L5 4#0-1 K 50 42.0 178.0|Q10 Q4 34 S-1 ¥5 -100 43.0 177.0
B18 B8 3NO= &8 -600 49.0 1710(B13 B6 4#0-1 +Q 50 420 178.0|E12 E2 34 S-1 +¢A -100 430 177.0
F18 F8 3NO= v4 -600 49.0 171.0(F13 F6 4#0-1 7 50 42.0 178.0|P12 P9 34 S-1 T -100 430 177.0
G18 G8 3NO= ¢3 -600 49.0 171.0(S13 S6 5#V-1 v3 50 42.0 178.0| 113 114 34 S-1 #J -100 43.0 177.0
Ol 06 3NO+1 ¢3 -630 18.0 202.0(B14 Bl 4#0-1 9 50 42.0 178.0 |F16 F11 34 N-1 &2 -100 430 177.0
J2 J6 3NO+1 #A -630 18.0 202.0| O1 06 34 N-1 #A -50 25.0 195.0| D2 D3 44 S-2 ¢A -200 16.0 204.0
02 04 3NO+1 v2 -630 18.0 2020 O2 04 4y N-1 ¢4 -50 25.0 195.0| G2 G17 44 S-2 &J -200 16.0 204.0
H6 H1l 3NO+1 4 -630 18.0 202.0| P8 P22 4v S-1 43 -50 25.0 195.0| J2 J6 44 S-2 «J -200 16.0 204.0
C7 C3 3NO+1 #A -630 18.0 202.0|F14 F1 4v S-1 #6 -50 25.0 195.0| O2 0O4 44 S-2 #J -200 16.0 204.0
E7 EG6 B -630 18.0 202.0| E7 EG6 . -100 20.0 2000 R2 R9 44 S-2 ¢A -200 16.0 204.0
K7 K3 3NO+1 v2 -630 18.0 202.0| P2 P21 3#0= ¢9 -110 15.0 205.0| P3 P11 44 S-2 &J -200 16.0 204.0
O7 O3 3NO+1 &5 -630 18.0 2020 G3 G10 3#0O= #9 -110 150 2050 Q3 Q5 44 S-2 ¢3 -200 16.0 204.0
19 11 3NO+1 #8 -630 18.0 202.0| K3 K2 3#0= &9 -110 15.02050| I5 7 INS-2 «J -200 16.0 204.0
K9 K6 3NO+1 «A -630 18.0 202.0| P4 P13 3#V= v3 -110 150 205.0| J9 J8 44 S-2 &J -200 16.0 204.0
M9 M4 3NO+1 44 -630 18.0 202.0( N3 N5 3#0+1 46 -130 50 2150 110 12 4vy N-2 T -200 16.0 204.0
Q9 Q8 3NO+1 v2 -630 18.0 2020 B5 B4 3#0+1 #9 -130 5.0 2150(F13 F6 44 S-2 #J -200 16.0 204.0
R16 R4 3NO+1 #A -630 18.0 202.0| C5 C12 440= 42 -130 50 215.0(G14 Gl 44 S-2 «J -200 16.0 204.0
B4 B3 3NO+2 #K -660 3.0 2170 N7 N1 3#0+1 9 -130 50 215.0(B18 B9 44 S-2 #J -200 16.0 204.0
P6 P19 3NO+2 43  -660 3.0 2170 (M10 M8 4# 0= 49 -130 5.0 2150 E3 E1 -300 1.0 219.0
Cl1 C2 2vyDN-3 «Q -800 0.0 220.0 (P17 P16 44 O= 9 -130 50 2150 112 115 34 S-3 «J -300 1.0 219.0
- M1 120.8 - M1 120.8 - M1 120.8
- L6 119.7 - L6 119.7 - L6 119.7
- Q1 129.4 - Q1 129.4 - Q1 129.4
- E4 90.0 - E4 90.0 - E4 90.0
- D8 132.5 - D8 1325 - D8 1325
H10 - 97.9 H10 - 97.9 H10 - 97.9
- J4 115.0 - J4 115.0 - J4 115.0
- N4 109.5 - N4 109.5 - N4 109.5
- R3 110.2 - C6 110.7 - C6 110.7
- C5 113.3 - G6 134.3 - G6 134.3
- G5 122.3 (P14 - 125.5 P14 - 1255
P15 - 128.1 R14 - 79.9 R14 - 79.9
13 « DKn1032 Basta kontrakt 14 464 Basta kontrakt 15 « D764 Basta kontrakt
Nord v 86 6% O =-1370 Ost v 9865 54 O =-450 Syd vE82 3V =-110
Alla + D83 Ingen + Kn1064 NS + Kn863
#Kn72 & ¢ v & NT #E64 & ¢ v & NT *Kn7 & ¢ v & NT
~E4 495 N13676 « EKD985 «Kn1073 N88 314 4 K10985 4Kn2 N48457
v- YKKn7542 S 1 3 6 7 6 v 104 vEKD73 S88314 v5 vKDKn743 S 4 8 5 5 7
¢ EKN9762 ¢4 0 12107 5 7 ¢ 832 ¢D 0559 117 ¢ EK ¢ 105 095876
#ED984  #K1065 VvV 12107 5 7 KD #Kn93 V559 117 #K9854 #DG63 V95876
4 K876 a2 «E3
vED1093 v Kn2 v 1096
¢ K105 ¢ EK975 ¢ D9742
3 #108752 #E102
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
S8 S11 4vDO-2 #3 500 2200 00| I5 19 3¢ N= vA 110 2200 00| KL K9 3¢ V-4 +8 200 2130 7.0
G18 G10 3vy O-4 &3 400 2180 20| C3 C4 64V-1 A 50 2160 40| O2 Ol 3NV-4 +6 200 2130 7.0
Al A4 3vyO-3 #3 300 2120 80| H7 H2 54V-1 A 50 2160 40| O6 O8 3NV-4 6 200 2130 7.0
A3 A2 29 0-3 #3 300 2120 8.0(|C10 Cl12 54V-1 9 50 2160 40| B7 B6 3NV-4 6 200 2130 7.0
5 19 3vO-3 «3 300 2120 80| AL A4 5¢ N-2 vA -100 211.0 9.0| C7 C2 3NV-4 46 200 2130 7.0
M1l M6 4v O-3 #3 300 2120 80| G1 G9 5¢ N-2 vA -100 211.0 9.0| F8 F13 3NV-4 6 200 2130 7.0
113 11 34 O0-3 #3 300 2120 80| D3 D4 3y O= ¢A -140 2080 120 Q8 Q2 3NV-4 ¢3 200 2130 70
L4 L2 3NV-2 &2 200 197.0 23.0| P3 P22 5¢ N-3 3 -150 205.0 150 M9 M5 3NV-4 3 200 2130 7.0
06 08 2v0O0-2 &3 200 197.0 23.0(B16 B12 5¢ N-3 vA -150 2050 150 J1 J9 3NV-3 +6 150 182.0 38.0
D7 D2 3NV-2 «Q 200 197.0 23.0| B6 B5 34 V+l 46 -170 2020 180| F2 F10 3NO-3 7 150 182.0 38.0
N7 N3 3NV-2 «Q 200 197.0 23.0| F4 F11 34 V+2 ¢J -200 1970 230 H3 H4 3NV-3 +6 150 182.0 38.0
S9 S5 3NV-2 4Q 200 1970 23.0| N7 N3 24 V+3 #A -200 1970 23.0| O3 0O5 3NO-3 ¢2 150 182.0 38.0
C10 C12 54DV -1 v8 200 1970 23.0|P16 P15 5¢ N-4 vA -200 197.0 23.0| E4 E2 150 1820 38.0
L12 L3 3¢ V-2 4Q 200 1970 23.0|G18 G10 34 V+2 +J -200 1970 23.0| K5 K4 3NV-3 +3 150 1820 38.0
S13 S7 3NV-2 42 200 197.0 23.0(S13 S7 44V= ¢4 420 1920 280 R5 R9 3NV-3 3 150 182.0 38.0
116 17 29» O-2 #3 200 197.0 23.0( B1 B9 44 O+1 ¢K -450 107.0 1130 16 110 3NO-3 ¢4 150 182.0 38.0
F18 F10 3NV-2 «Q 200 197.0 23.0| E1 E10 4+ V+1 &A -450 1070 1130 F7 F6 3NV-3 6 150 182.0 38.0
D3 D4 34 S+1 ¢9 170 186.0 340 F1 F9 44 V+1 ¢J -450 107.0 1130 C9 C12 3NV-3 3 150 182.0 38.0
J1 J9 34S= &A 140 181.0 39.0| H1 H10 44 V+1 +J  -450 107.0 113.0| D9 D5 3NO-3 +2 150 182.0 38.0
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3¢ V+1
3¢ V+1
3¢ O+1
48 V =

2¢ V +2
2¢ V +2
3¢ V+1
2¢ V +2
4a \V =

2¢ O+2
3¢ O+1
3¢ V+1
4¢ O =

3¢ V+1
3¢ V+1
3¢ O+1
2y O +1
2v O +1
4% V +1
4% V +1
48 V +1
3¢ V+2
4% V +1
48 V +1
2NV +1
4% V +1
38 V+3
4 V +2
3% O +3
38 V+3
4 V +2
3% O +4
3v S-2
34 N-2
2vDS-1
2vDS-1
34 S-2
54DS-1
34 S-2
44 N -3
44 N -3
& V=

3NO =

58 V=

5% V +1
5V +1
5& V +1
5% V +1
5V +1
5& V +1
4¢DO =
44D N -3

*4
+3
v8
vT
+Q
+Q
v8
+Q
4Q
&2
+Q
a7
v2

54DV +1 v8

140
140
140
100
100
100
100
100
100
100
100
100
100
100
100
100
-90
-110
-110
-110
-110
-110
-110
-110
-110
-110
-110
-110
-110
-110
-110
-110
-120
-120
-120
-130
-130
-130
-130
-130
-130
-130
-130
-130
-130
-130
-130
-130
-130
-130
-130
-130
-130
-130
-130
-140
-140
-150
-150
-150
-150
-150
-150
-150
-150
-170
-170
-170
-170
-170
-190
-200
-200
-200
-200
-200
-200
-200
-300
-300
-600
-600
-600
-620
-620
-620
-620
-620
-620
-710
-800
-950

181.0
181.0
181.0
164.0
164.0
164.0
164.0
164.0
164.0
164.0
164.0
164.0
164.0
164.0
164.0
164.0
150.0
134.0
134.0
134.0
134.0
134.0
134.0
134.0
134.0
134.0
134.0
134.0
134.0
134.0
134.0
134.0
116.0
116.0
116.0
93.0
93.0
93.0
93.0
93.0
93.0
93.0
93.0
93.0
93.0
93.0
93.0
93.0
93.0
93.0
93.0
93.0
93.0
93.0
93.0
71.0
71.0
61.0
61.0
61.0
61.0
61.0
61.0
61.0
61.0
48.0
48.0
48.0
48.0

39.0
39.0
39.0
56.0
56.0
56.0
56.0
56.0
56.0
56.0
56.0
56.0
56.0
56.0
56.0
56.0
70.0
86.0
86.0
86.0
86.0
86.0
86.0
86.0
86.0
86.0
86.0
86.0
86.0
86.0
86.0
86.0
104.0
104.0
104.0
127.0
127.0
127.0
127.0
127.0
127.0
127.0
127.0
127.0
127.0
127.0
127.0
127.0
127.0
127.0
127.0
127.0
127.0
127.0
127.0
149.0
149.0
159.0
159.0
159.0
159.0
159.0
159.0
159.0
159.0
172.0
172.0
172.0
172.0
172.0
178.0
186.0
186.0
186.0
186.0
186.0
186.0
186.0
195.0
195.0
200.0
200.0
200.0
209.0
209.0
209.0
209.0
209.0
209.0
216.0
218.0
220.0

44 V+1 46
5a V= *J
46 V+1 &A
46 V +1 &A
4e V+1 ¢4
4e V+1 ¢
4e V+1 &4
4e V+1 &4
4e V+1 ¢
46 V +1 &A
44 V+1 ¢6

44 V+1 ¢
46 V +1  #A
44 V +1  #A

4e V+1 ¢
be V= *J
44 V+1 46
4e V+1 &A
4e V+1 ¢4
54 O= +¢A
4e V+1 ¢
46 V +1 ¢4
4e V+1 ¢4
44 V+1 99
46 V+1 &A
4e V+1 ¢
4e V+1 &A
46 V+1 ¢ 3
4e V+1 ¢
44 V+1 ¢6
46 V+1 &A
4e V+1 ¢
4e V+1 ¢4
46 V+1 46
4e V+1 ¢
4e V+1 ¢
46 V+1 ¢
44 V+1 46
e V= &A
46 V+1 ¢
4e V+1 &4
4e V+1 &A
46 V+1 &A
4e V+1 ¢
4e V+1 ¢
46 \V+1 96
44 V+1 46
4e V+1 &A
46 V+1 ¢
44 V +1 SA
e V= &A
46 V+1 ¢
4e V+1 ¢
4e V+1 T
46 V+1 &A
4e V+1 ¢
44 V+1 ¢5
46 V+1 &A
4e V+1 ¢4
e V= &A
46 \V+1 96
4e V+1 ¢
4e V+1 ¢
be V= *4
4e V+1 ¢
44 V+1 &A
46 V+1 ¢
44 V +1 SA
4o V+1 46
44 O+1 K
4e V+1 ¢
44 V+1 ¢6
46 V+1 ¢
4e V+1 ¢
4e V+1 ¢
46 V+1 ¢
4e V+1 T
e V= &A
4e V +2 #4
4a V +2  SA
4e V+2 &4
56 V+1 &A
4a V +2  SA
44 V +2 v5
4e \/ +2 ¢
4a V +2  SA
4e V+2 46
4a V+2 oT
5¢DN-3 vK
66DN-4 vA

-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-450
-480
-480
-480
-480
-480
-480
-480
-480
-480
-480
-500
-800

113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
113.0
207.0
207.0
207.0
207.0
207.0
207.0
207.0
207.0
207.0
207.0
218.0
220.0
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150
150
150
150
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150
150
150
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150
150
110
100
100
100
100
100
100
100
100
100
100
100

-400
-420
-420
-420
-420
-420
-420
-430

182.0
182.0
182.0
182.0
182.0
182.0
182.0
182.0
182.0
182.0
182.0
182.0
158.0
131.0
131.0
131.0
131.0
131.0
131.0
131.0
131.0
131.0
131.0
131.0
131.0
131.0
131.0
131.0
131.0
131.0
131.0
131.0
131.0
131.0
131.0
131.0
131.0
131.0
131.0
78.0
78.0
78.0
78.0
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78.0
78.0
78.0
78.0
78.0
78.0
78.0
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78.0
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38.0
38.0
38.0
38.0
38.0
38.0
38.0
38.0
38.0
38.0
38.0
38.0
62.0
89.0
89.0
89.0
89.0
89.0
89.0
89.0
89.0
89.0
89.0
89.0
89.0
89.0
89.0
89.0
89.0
89.0
89.0
89.0
89.0
89.0
89.0
89.0
89.0
89.0
89.0
142.0
142.0
142.0
142.0
142.0
142.0
142.0
142.0
142.0
142.0
142.0
142.0
142.0
142.0
142.0
142.0
142.0
142.0
142.0
142.0
142.0
142.0
142.0
142.0
142.0
142.0
142.0
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174.0
174.0
174.0
174.0
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187.0
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197.0
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213.0
213.0
213.0
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D1 - 125.3 D1 - 125.3 D1 - 125.3
Q3 - 134.6 Q3 - 134.6 Q3 - 134.6
H6 - 118.6 H6 - 118.6 H6 - 118.6
G7 - 76.4 G7 - 76.4 G8 - 114.7
L8 - 108.2 L8 - 108.2 L8 - 108.2
- E5 139.9 - E5 139.9 - E5 139.9
- J5 1131 - J5 1131 - J5 1131
- N5 113.8 - N5 113.8 - N5 113.8
M12 - 120.0 M12 - 120.0 - P12 108.3
- R15 100.7 - R15 100.7 | R10 - 133.2
- C7 125.6 - C7 125.6 |M12 - 120.0
P13 - 123.6 P13 - 123.6 - C8 140.0
16 473 Basta kontrakt 17 s E7 Basta kontrakt 18 498642 Basta kontrakt
Vast v 10983 54 V =-650 Nord vKn72 6¢ N =920 Ost v10 6v O D -3500
ov +108 Ingen 41085 NS .7
#D9863 & ¢ v & NT #D10732 ¢ v &4 NT #EDKnN753 & ¢ v & NT
4 E1096 4 KKn84 N52 313 495 4 DKn108632 N 12126 5 10 4K75 aKn3 N 114 4 118
vKn762 vE5 S52313 v 1098654 v EKD S 12126 5 10 vDKn5 vK9743 S 114 4 118
¢ EK96 ¢ D32 O 8 119 1110 496 ¢43 000770 ¢ EKn6 ¢ K10542 028924
«10 #KKn72 vV 8 109 1110 +Kn84 *9 VOoO0O770 #8642 #10 V28924
4 D52 s K4 4 ED10
vKD4 v3 v E862
¢+ Kn754 ¢ EKDKNn72 + D983
*E54 #EK65 »K9
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
N2 N1 44 0-1 ¢4 100 203.0 17.0| N9 N3 64DN= vA 1090 2190 10| M7 M11 44DN+1 &T 990 220.0 0.0
R2 R14 44 O-1 K 100 203.0 170 Q9 Q3 64DN= vK 1090 219.0 1.0(B17 B5 44 S+2 ¥5 680 2180 20
C4 C5 44 0-1 9vK 100 203.0 17.0| A2 A4 6¢ S+1 45 940 2140 6.0 Al A3 44 S+1 vQ 650 182.0 38.0
J5 J7 44 0-1 vK 100 203.0 17.0| 14 114 6¢ S+1 49 940 2140 6.0 A2 A4 44 S+1 vQ 650 182.0 38.0
P6 P16 44 O-1 ¢7 100 203.0 17.0|B17 B5 6¢ S+1 45 940 2140 6.0| M2 M10 44 S+1 vQ 650 182.0 38.0
17 19 44 O-1 vK 100 2030 17.0| N5 N7 6#N= vA 920 207.0 13.0( F3 F11 44 S+1 ¢A 650 182.0 38.0
O7 0O4 44 O-1 6 100 203.0 17.0| D8 D3 6#N= vA 920 2070 13.0| O3 02 44 S+1 +Q 650 182.0 38.0
R7 R16 44 V-1 #3 100 203.0 17.0( K9 K4 6#N= vA 920 207.0 130| C4 Cl14 44 N+1 ¢5 650 182.0 38.0
K8 K3 44 O-1 vK 100 2030 170(P20 P3 6#N= ¢K 920 2070 13.0| H4 H5 44 S+1 vQ 650 182.0 38.0
M9 M6 44 O-1 ¢K 100 203.0 17.0|P18 P2 64DO-4 ¢K 800 2020 18.0| 14 114 44 S+1 +A 650 182.0 38.0
P9 P22 44 O-1 ¢4 100 203.0 17.0| C4 Cl14 5¢DS+2 45 750 199.0 21.0( J4 J8 44 S+1 vQ 650 182.0 38.0
S9 S12 44 O-1 K 100 203.0 17.0(P14 P13 5¢DS+2 49 750 199.0 21.0( C5 C6 44 S+1 6 650 182.0 38.0
L12 L4 44 O-1 T 100 203.0 17.0| H2 H10 5#DN+1 vA 650 1940 260 E5 E3 44 S+1 ¢A 650 182.0 38.0
R13 R8 54 O-1 #A 100 2030 170 N8 N4 54DS+1v8 650 1940 26.0( J5 J7 44 S+1 vQ 650 182.0 38.0
F14 F3 44 O-1 &A 100 2030 170|R11 R1 5¢DS+1 v4 650 1940 260 S5 S6 44 S+1 vQ 650 182.0 38.0
P15 P14 44 O-1 7 100 203.0 17.0| B8 B7 4NN+3 4Q 520 189.0 31.0( G6 Gl 44 N+1 &T 650 182.0 38.0
F17 F4 44 O-1 K 100 203.0 17.0|B15 B10 3NS+4 49 520 189.0 310 K6 K5 44 N+1 &T 650 182.0 38.0
Gl7 G4 44 O-1 ¢4 100 2030 17.0| L2 L10 54DO-3 ¢«A 500 180.0 40.0( R6 R10 44 S+1 &5 650 182.0 38.0
F8 F13 2&# N-2 45 -100 184.0 36.0| C8 C3 54DO-3 ¢A 500 180.0 40.0( H7 H1 44 S+1 ¢A 650 182.0 38.0
G15 G9 24 O+2 vK -170 1820 38.0| G8 G7 54DO-3 #K 500 180.0 40.0( B8 B7 44 S+1 45 650 182.0 38.0
B15 B9 24 O+3 ¢K -200 180.0 40.0| H9 H6 54D O -3 #A 500 180.0 400 C8 C3 44 S+1 vQ 650 182.0 38.0
D4 D5 3NO= ¢Q -600 175.0 45.0|L12 L4 54DO-3 ¢A 500 180.0 40.0( D8 D3 44 S+1 ¢A 650 182.0 38.0
P5 P13 3NO= &2 -600 175.0 45.0|F15 F10 54D O-3 ¢A 500 180.0 40.0| F8 F7 44 S+1 »Q 650 182.0 38.0
B11l B18 3NO= ¢K -600 175.0 450|F17 F5 54DO-3 ¢A 500 180.0 400 G8 G7 44 S+1 ¥5 650 182.0 38.0
P20 P8 3NO= 5 -600 175.0 450| 11 2 5¢ S+2 49 440 1450 75.0| S8 S3 44 S+1 vQ 650 182.0 38.0
Al A4 4e V= T -620 1240 96.0| K1 K3 5¢ S+2 49 440 1450 750 D9 D6 44 S+1 ¢A 650 182.0 38.0
K1 K9 44 O= vQ -620 1240 96.0| K2 K10 5¢ S+2 49 440 1450 750 H9 H6 44 S+1 vQ 650 182.0 38.0
L1 L8 44 O= ¢4 -620 1240 96.0| B3 Bll 5¢ S+2 49 440 1450 750(R11 R1 44 S+1 ¥J 650 182.0 38.0
F2 F10 44 O= vK -620 124.0 96.0( B4 B14 5¢ S+2 49 440 1450 750(L12 L4 44 S+1 vQ 650 182.0 38.0
J2 J1 44 O= ¢ -620 124.0 96.0| D4 D5 5¢ S+2 49 440 145.0 75.0(B13 B9 44 N+1 vQ 650 182.0 38.0
L2 L10 44 O= «vK -620 1240 96.0| R4 R7 5¢ S+2 49 440 145.0 75.0(B15 B10 44 S+1 vQ 650 182.0 38.0
M2 M10 44 V= ¢T -620 1240 96.0| C5 C6 5¢ S+2 49 440 145.0 75.0(G15 G10 44 N+1 &T 650 182.0 38.0
Q2 Ql 44 0= 9¢vK -620 1240 96.0| E5 E3 5¢ S+2 45 440 145.0 75.0(B16 B2 44 S+1 vQ 650 182.0 38.0
I3 113 44 O= ¢4 -620 1240 96.0| J5 J7 5¢ S+2 48 440 1450 750(F16 F2 44 N+1 42 650 182.0 38.0
O3 05 44 O= vK -620 1240 96.0( B6 Bl 5¢ S+2 49 440 145.0 75.0(F18 F12 44 S+1 6 650 182.0 38.0
R3 R6 44 V= ¢T -620 1240 96.0| F8 F7 5¢ S+2 45 440 145.0 75.0(G18 G12 44 S+1 vQ 650 182.0 38.0
J4 I8 44 O= «vK -620 1240 96.0| O8 Ol 5¢ S+2 &5 440 145.0 75.0(P21 P9 54 N= &T 650 182.0 38.0
P4 P11 44 O= vK -620 1240 96.0| L9 L6 5¢ S+2 49 440 1450 750( L1 L8 3NS+1 6 630 142.0 78.0
Q4 Q8 44 0= &A -620 1240 96.0| M9 M6 5¢ S+2 49 440 145.0 75.0| K2 K10 3NS+1 &2 630 142.0 78.0
G5 G12 44 O= «vK -620 1240 96.0(C10 C1 5¢ S+2 49 440 1450 75.0| G3 G11 3NS+1 45 630 142.0 78.0
K5 K4 44 O= vK -620 1240 96.0|Cl1 C7 5¢ S+2 49 440 1450 75.0| F4 F14 3NS+1 4 630 142.0 78.0
L5 L3 4e4V= T -620 1240 96.0|S11 S7 5¢ S+2 49 440 1450 750(E12 E4 3NS+1 &6 630 142.0 78.0
R5 R9 44 V= ¢T -620 1240 96.0|E12 E4 5¢ S+2 49 440 145.0 750 N5 N7 44 S= &2 620 131.0 89.0
B7 B6 44 O= 45 -620 1240 96.0|S12 S2 5¢ S+2 45 440 1450 750( J9 J3 44 S= &8 620 131.0 89.0
C7 C2 44 O= ©vK -620 1240 96.0|/B13 B9 5¢ S+2 49 440 1450 750 M9 M6 44 S= vQ 620 131.0 89.0
D7 D1 44 0= ¢4 -620 1240 96.0|F13 F9 5¢ S+2 49 440 1450 75.0(C10 Cl1 44 S= &4 620 131.0 89.0
F7 F6 464 O= v4 -620 1240 96.0( 113 15 5¢ S+2 ¢9 440 1450 75.0(K12 K8 44 N= &T 620 131.0 89.0
G7 G6 44 O= #A -620 1240 96.0(R14 R3 5#S+2 49 440 145.0 75.0(M12 M4 44 N= &T 620 131.0 89.0
H7 H1 44 O= vK -620 124.0 96.0|G15 G10 5¢ S+2 49 440 1450 750 E1 E8 3NS= vQ 600 119.0 101.0
M7 M11 44 O= vK -620 1240 96.0| 115 I3 5¢ S+2 &5 440 1450 750( K1 K3 3NS= #4 600 119.0 101.0
P7 P18 44 O= vK -620 1240 96.0(P16 Pl 5¢ S+2 49 440 145.0 750( B6 Bl 3NS= &4 600 119.0 101.0
S7 S2 44 O= ¢4 -620 124.0 96.0(B18 B1l2 5¢ S+2 49 440 145.0 75.0| P7 P17 3NS= &8 600 119.0 101.0
C9 Cl12 44 O= vK -620 1240 96.0| E7 E11 3NS+1 «T 430 114.0 106.0 [S10 S1 3NS= #8 600 119.0 101.0
D9 D6 44 O= vQ -620 1240 96.0| O7 O5 4NN= vA 430 114.0 106.0 [G16 G2 3NS= 45 600 119.0 101.0
J9 J3 44 O= &#A -620 1240 96.0|G16 G2 3NS+1 ¥4 430 114.0 106.0 O7 O5 24 N+4 &T 230 111.0 109.0
L9 L6 44 O= ¢vK -620 1240 96.0| Al A3 5#N+1 vA 420 92.0 1280 O8 Ol 24 S+4 vJ 230 111.0 109.0
Q10 Q6 44 O= v4 -620 1240 96.0| L1 L8 54 N+1 vA 420 92.0 1280 11 12 24 S+3 vQ 200 95.0 125.0
Cll Cl 44 0= +5 -620 1240 96.0( M1 M8 5¢ S+1 T 420 92.0 128.0( H2 H10 24 S+3 ¥5 200 95.0 125.0
F11 F18 44 O= &A -620 1240 96.0| J2 Jl 54 N+1 vA 420 92.0 128.0( B3 B1ll 24 S+3 vQ 200 95.0 125.0
Gll1 G18 44 O= vK -620 1240 96.0| M2 M10 5 N+1 A 420 92.0 128.0( G4 G14 34 S+2 ¢A 200 95.0 125.0
K1l K2 44 O= &A -620 1240 96.0| N2 N1 5#N+1 vA 420 92.0 128.0( O4 06 24 S+3 46 200 95.0 125.0
E12 E4 44 O= v4 -620 1240 96.0| F3 F11 5¢ S+1 T 420 92.0 128.0( R4 R7 24 S+3 5 200 95.0 125.0
K12 K7 44 O= ¢K -620 1240 96.0| O3 02 5#N+1 vA 420 92.0 1280 L5 L3 34 N+2 ¢2 200 95.0 125.0
Cl4 C3 44 0= &A -620 1240 96.0|( J4 I8 5#N+1 vA 420 92.0 128.0( P5 P12 24 N+3 &T 200 95.0 125.0
114 12 44 O= ¢4 -620 1240 96.0| S5 S6 5#N+1 vK 420 92.0 128.0] N8 N4 24 N+3 ¥3 200 95.0 125.0
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S14 S3 44 O= ¢4 -620 1240 96.0( G6 Gl 5#N+1 vA 420 92.0 128.0| Q9 Q3 34 N+2 &T 200 95.0 125.0
R15 R1 44 O= #A -620 1240 96.0| K6 K5 5&#N+1 vA 420 92.0 128.0|S11 S7 24 N+3 #T 200 95.0 125.0
F16 F1 464 O= K -620 1240 96.0( 17 111 54 N+1 vA 420 92.0 128.0|R15 R2 24 S+3 vQ 200 95.0 125.0
G16 G1 44 O= &A -620 124.0 96.0 (K12 K8 5#N+1 vA 420 92.0 128.0|F17 F5 24 S+3 ¢6 200 95.0 125.0
116 I8 44 O= vK -620 1240 96.0(R13 R9 5&#N+1 vA 420 92.0 128.0| P18 P2 24 S+3 ¢6 200 95.0 125.0
B17 B4 44 O= vK -620 1240 96.0({S13 S9 5¢ S+1 49 420 92.0 128.0|C11 C7 2NS+2 %4 180 80.0 140.0
P17 Pl 44 O= vK -620 1240 96.0(Bl16 B2 5 N+1 vA 420 92.0 128.0| L2 L10 24 S+2 #8 170 77.0 143.0
El E8 3NO+1 ¢4 -630 73.0 147.0|G17 G5 5« N+1 vA 420 92.0 128.0 | P14 P13 24 N+2 #T 170 77.0 143.0
16 110 3NO+1 ¢4 630 73.0 147.0|G18 G12 5 N+1 vK 420 92.0 128.0| P4 P22 INS+2 45 150 69.0 151.0
N9 N3 3NO+1 ¢4 -630 73.0 147.0( Q4 Q8 5#S= 45 400 72.0 148.0( 17 111 4« N+1 v4 150 69.0 151.0
P19 P2 3NO+1 #5 -630 73.0 147.0| E2 E10 . 300 67.0 153.0( K9 K4 3#S+2 vQ 150 69.0 151.0
ML M8 44 O+1 &7 -650 38.0 1820( 16 112 44DO-2 ¢A 300 67.0 153.0 (R13 R9 3« N+2 ¢4 150 69.0 151.0
B2 B10 44 O+1 vK -650 38.0 1820| S8 S3 44DO-2 «K 300 67.0 153.0 (P16 Pl 4« N+1 v4 150 69.0 151.0
E2 E10 . -650 38.0 182.0( 116 19 44DO-2 ¢A 300 67.0 153.0 (P20 P3 4v O-3 v2 150 69.0 151.0
G2 G10 44 O+1 vK -650 38.0 1820| G3 G11 4¢ S+3 49 190 43.0 177.0| J2 J1 24 S+1 &4 140 61.0 159.0
H2 H10 44 O+1 vK -650 38.0 182.0| G4 G14 3¢ S+4 45 190 43.0 177.0 | K11 K7 24 S+1 vQ 140 61.0 159.0
02 O1 44 O+1 vK -650 38.0 182.0( H4 H5 4¢ S+3 49 190 43.0 177.0|Q10 Q6 3+ N+1 «J 130 58.0 162.0
A3 A2 44 O+1 ¢4 650 38.0 182.0( P4 P22 4¢ S+3 45 190 43.0 177.0| Q2 Q1 INS+1 #4 120 56.0 164.0
P3 P21 44 O+1 vQ -650 38.0 182.0| S4 S14 3¢ S+4 «9 190 43.0 177.0] Q4 Q8 2&# N+1 «J 110 53.0 167.0
H4 H5 44 O+1 ¢4 -650 38.0 1820 L5 L3 3¢ S+4 49 190 43.0 177.0|B18 B12 3#N= v3 110 53.0 167.0
R4 R11 44 O+1 &A -650 38.0 1820 P5 P12 4¢ S+3 49 190 43.0 1770 M1 M8 3NS-1 vQ -100 38.0 182.0
S4 S5 44 O+1 vQ -650 38.0 1820 P6 P15 4¢ S+3 «9 190 43.0 177.0| E2 E10 -100 38.0 182.0
B5 B12 44 O+1 vK -650 38.0 182.0| M7 M1l 4¢ S+3 49 190 43.0 177.0| N2 N1 54 N-1 &T -100 38.0 182.0
E5 E3 44 O+1 vK -650 38.0 182.0| P7 P17 3¢ S+4 49 190 43.0 177.0| S4 S14 44 S-1 #2 -100 38.0 182.0
F5 F12 44 O+1 vK -650 38.0 182.0( P8 P19 4¢ S+3 49 190 43.0 177.0| F6 F1 44 S-1 vQ -100 38.0 182.0
I5 111 44 O+1 ¥vK -650 38.0 1820| D9 D6 4#S+3 49 190 43.0 177.0| P6 P15 3NS-1 v6 -100 38.0 182.0
NS5 N7 44 O+1 &A 650 38.0 1820( J9 J3 3¢ S+4 49 190 43.0 177.0| D7 D1 5#N-1 ¢4 -100 38.0 182.0
O6 08 54 O= &A -650 38.0 182.0(C12 C2 3¢ S+4 49 190 43.0 177.0| L9 L6 3NS-1 vQ -100 38.0 182.0
E7 E11 44 O+1 #A -650 38.0 182.0|M12 M4 4¢ S+3 49 190 43.0 177.0|C12 C2 44 S-1 #8 -100 38.0 182.0
B8 B13 44 O+1 #A -650 38.0 1820|R15 R2 4¢ S+3 49 190 43.0 177.0|S12 S2 3NS-1 5 -100 38.0 182.0
D8 D3 44 O+1 vK -650 38.0 182.0(F16 F2 4¢ S+3 49 190 43.0 177.0|R14 R3 44 N-1 &T -100 38.0 182.0
N8 N4 44 O+1 ¢7 -650 38.0 182.0(R16 R8 4¢ S+3 49 190 43.0 177.0| 116 19 54 S-1 ¢A -100 38.0 182.0
Q9 Q3 44 O+1 ¢8 -650 38.0 182.0(F18 F12 3¢ S+4 49 190 43.0 177.0|R16 R8 3NS-1 vQ -100 38.0 182.0
Cl0 C6 44 O+1 vK -650 38.0 182.0|P21 P9 4¢ S+3 49 190 43.0 177.0| 18 110 3¢ V= &9 -110 24.0 196.0
K10 K6 44 O+1 vQ -650 38.0 1820| F4 F14 4« N+2 vA 170 18.0 202.0( N9 N3 3vO= 3 -140 20.0 200.0
S11 S1 44 O+1 &A 650 38.0 182.0( O4 06 4¢ S+2 49 170 18.0 202.0| 113 I5 3y O= #K -140 20.0 200.0
112 14 44 V+1 vK -650 38.0 1820 F6 Fl1 4#N+2 vA 170 18.0 202.0(S13 S9 2v O+1 4T -140 20.0 200.0
M12 M4 44 O+1 4  -650 38.0 182.0| D7 D1 4¢ S+2 #4 170 18.0 202.0(F13 F9 3vV+1l ¢7 -170 16.0 204.0
S13 S8 44 O+1 &4 -650 38.0 182.0(S10 S1 4¢ S+2 ¢9 170 18.0 202.0| D4 D5 2NS-2 5 -200 10.0 210.0
B14 B3 44 V+1 T -650 38.0 1820| H7 Hl 44 O-2 «A 100 11.0 209.0( E7 E11 INS-2 vQ -200 10.0 210.0
115 11 44 O+1 ¢4 -650 38.0 182.0( 18 110 44 O-2 +¢A 100 11.0 209.0( P8 P19 3NS-2 vJ -200 10.0 210.0
B16 Bl 44 O+1 #A -650 380 1820 E1 E8 34 O-1 v3 50 6.0 2140 F15 F10 3NS-2 ¢6 -200 10.0 210.0
Gl14 G3 3NO+2 42  -660 6.0 2140| R6 R10 34 O-1 ¢A 50 6.0 2140 |G17 G5 44 S-2 #6 -200 10.0 210.0
S10 S6 44 O+2 #A  -680 3.0 2170 K11 K7 34 0O-1 «A 50 6.0 2140 16 112 3NS-3 +vQ -300 4.0 216.0
F1I5 F9 44 O+2 ¢J  -680 3.0 2170(Q10 Q6 24 O= ¢A -110 2.0 2180( B4 B14 64 S-4 4  -400 1.0 219.0
H9 H6 64 O= vK -1430 0.0 2200 Q2 Q1 24 O+1 ¢A -140 0.0 2200 115 I3 3NS-4 2  -400 1.0 219.0
D2 - 96.8 D2 - 96.8 D2 - 96.8
M5 - 96.2 M5 - 96.2 M5 - 96.2
Q5 - 127.9 Q5 - 127.9 Q5 - 127.9
- L11 109.2 | R5 - 1335 R5 - 1335
G8 - 114.7 - L11 109.2 - L11 109.2
- H3 99.3 - H3 99.3 - H3 99.3
- E6 1325 - E6 1325 - E6 1325
- J6 119.9 - J6 119.9 - J6 119.9
- N6 127.3 - N6 127.3 - N6 127.3
- P12 108.3 - P11 105.9 - P11 105.9
R10 - 133.2 - C9 115.4 - C9 115.4
- C8 140.0 - G9 65.4 - G9 65.4
19 a2 Basta kontrakt 20 93 Basta kontrakt 21 « DKn654 Basta kontrakt
Syd v Kn10872 4v S =420 Vast v DKn65 6NT V =-1440 Nord v Kn85 3¢ O =-110
ov ¢ D93 Alla ¢ E10953 NS ¢ 1074
#10864 & ¢ v & NT *73 & ¢ v & NT »E8 & ¢ v & NT
4 K7 « D1095 N 107 107 8 «KDKn82 4ES5 NO4300 +K103 4E2 N33875
vED95 v64 S 107 107 8 v3 v EK972 S04300 vD32 v10 $33875
¢10872 ¢ Kn654 0352675 ¢2 ¢ KD76 O 128 101212 ¢+ D952 ¢ K863 09 9556
D73  #Kn52 V35265 #EK10852 #96 V 128 101212 %432 #KDKnl1095 V 9 9 5 5 6
4 EKn8643 « 10764 « 987
vK3 v 1084 v EK9764
¢ EK ¢ Kng84 ¢ EKn
#EK9 #DKn4 *76
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
G16 G3 4vy N+1 4 450 2200 O0.0|F18 F1 6NV-2 9 200 2200 00| Ql Q4 4vS= «T 620 2200 0.0
O7 O5 3NN+1 ¢4 430 2170 3.0( A1 A3 6NO-1 43 100 2100 100| B8 B3 3NDV-3 v3 500 2180 20
L8 L11 4NS= T 430 2170 30| J1 J4 6NO-1 46 100 210.0 10.0|G10 G9 54DO-2 vA 300 2160 4.0
D1 D4 44 S= v9 420 2120 80| KI K8 6NO-1 47 100 2100 100| R5 R14 2v S+2 «2 170 2130 7.0
R5 R8 4y N= &3 420 2120 80| Q1 Q4 3vO-1 4 100 2100 10.0( P8 P17 3vy S+1 4 170 2130 7.0
F9 F8 4vS= &3 420 2120 80| H5 H6 6NO-1 ¢4 100 2100 100 6 11 3NV-3 ¢5 150 210.0 10.0
QL Q4 3NS= +2 400 198.0 220| 19 111 6NO-1 4 100 2100 100f L2 L1 3vS= 4 140 1910 290
K3 K11 3NS= ¢5 400 1980 220| N9 N5 64V-1 ¢A 100 2100 10.0| S2 S4 3vS= &4 140 1910 29.0
L3 L10 3NN= J 400 1980 220| S9 S4 6NO-1 ¢8 100 2100 10.0| J3 J2 3vS= &2 140 1910 29.0
G5 G14 3NN= v4 400 1980 220(B16 B3 6NO-1 ¢4 100 2100 100| Q5 Q9 3vS= #4 140 1910 29.0
Q5 Q9 3NS= &7 400 1980 220 G9 G8 44#V+l1 ¢A -150 2000 200 O7 O6 3vy S= #2 140 191.0 29.0
B7 B2 3NN= 5 400 1980 220| O3 02 3NV= ¢3 -600 1980 22.0| D8 D2 3vS= &2 140 1910 29.0
I7 113 3NS= 4K 400 1980 22.0|Cl1 C2 44V= ¢A -620 196.0 24.0| E8 Ell 140 1910 29.0
K12 K9 3NN= ¢4 400 1980 220| L2 L1 3NV+l 9 -630 1850 350| F8 F3 3vS= &5 140 191.0 29.0
114 16 3BNN= ¢4 400 1980 220 Q3 Q2 3NV+l1 &7 -630 1850 350| G8 G3 3vS= 5 140 191.0 29.0
F17 F6 5#S= 7 400 1980 220| G4 G12 3NO+1 +J -630 1850 350| K8 K7 3vS= #4 140 191.0 29.0
P19 P3 3NS= 8 400 1980 220| J6 J8 3NO+1 «Q -630 185.0 350| M9 M7 3v S= 4 140 191.0 29.0
L6 L4 2¢v N+3 4 200 186.0 34.0| F7 F2 3NV+l1 v6 -630 1850 35.0|El12 E5 3vS= &4 140 1910 29.0
A2 A4 14 S+3 #3 170 1820 38.0| 17 113 3NV+1l 45 -630 1850 350(|B13 B11 3vS= #4 140 191.0 29.0
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380 P7 P16 3NO+1 44 -630 1850 35.0S13
380 HO H7 3NO+1 #Q -630 1850 35.0|B17
50.0 [S13 S10 3NV +1 43 -630 1850 35.0|G17
50.0|F17 F6 3NO+1 ¢4 -630 1850 35.0|G18
500 C1 C3 44 V+1 #A -650 1650 55.0|P20
50.0| DI D4 44 V+1 ¢A -650 1650 55.0| D1
50.0| 11 14 44 V+l ¢A -650 165.0 55.0| C7
500 S1 S3 44 V+l #A -650 1650 55.0| R1
50.0| F4 F12 44 V+1 ¢A -650 1650 55.0| H3
50.0| S5 S14 44 V+1 &7 -650 1650 55.0 |M12
50.0| B7 B2 54 V= ¢A -650 165.0 550 |F18
60.0| O8 Ol 44 V+1 &7 -650 165.0 55.0| J1
740| FO F8 44 V+1 ¢A -650 165.0 55.0| N1
740|S11 S2 44 V+1 43 -650 1650 55.0| P1
740| A2 A4 3NO+2 ¢4 660 121.0 99.0| L3
740| 12 13 3NO+2 ¢4 660 121.0 99.0| L6
740| H3 H1I0 3NO+2 44 -660 121.0 99.0| M6
740| J3 J2 3NO+2 +8 -660 121.0 99.0| P6
740| L3 L10 3NO+2 ¢4 -660 121.0 99.0| R6
740| R3 R15 3NO+2 ¢J -660 121.0 99.0| P9
740| B4 B12 3NO+2 ¢4 -660 121.0 99.0| 110
740| F5 F14 3NO+2 ¢4 -660 121.0 99.0|S10
740| G5 G14 3NO+2 ¢4 -660 121.0 99.0 |Kil
740| C6 C7 3NO+2 ¢4 -660 121.0 99.0|P12
740| E6 E4 3NO+2 ¢4 -660 121.0 99.0|F13
880 M6 M4 3NO+2 +3 -660 121.0 99.0 | F16
121.0| N6 N8 3NO+2 ¢4 -660 121.0 99.0| I3
121.0| R6 R1 3NO+2 ¢4 660 121.0 99.0| K4
121.0| S6 S7 3NO+2 ¢4 -660 121.0 99.0| E6
121.0| R7 R11 3NO+2 46 -660 121.0 99.0| Q6
121.0| L8 L11 3NV+2 ¢3 -660 121.0 99.0| P7
1210/ C9 C4 4ANO+1 #Q -660 121.0 99.0| H9
121.0| M9 M7 3NO+2 ¢4 -660 121.0 99.0|B12
121.0 |[KI0 K5 4NO+1 44 -660 121.0 99.0|Ci2
121.0 |F11 F15 3NV+2 ¢3 -660 121.0 99.0 |G12
121.0 |G11 G15 3NO+2 ¢J -660 121.0 99.0 |K12
1210 |[E12 E5 3NO+2 47 -660 121.0 99.0|L12
1210|112 15 3NO+2 ¢4 -660 121.0 99.0|C14
121.0 [M12 M5 3NO+2 ¢4 -660 121.0 99.0|Gl4
121.0 [B13 B10 3NO+2 ¢8 -660 121.0 99.0 |F17
121.0 |P13 P12 3NO+2 44 -660 121.0 99.0| O5
1210 |R14 R4 3NO+2 ¢8 -660 121.0 99.0| R7
1210 |G16 G3 3NO+2 44 -660 121.0 99.0 |F14
121.0| 116 110 3NO+2 45 -660 121.0 99.0| C1
1210 |G17 G6 3NO+2 ¢8 -660 121.0 99.0| H1
121.0 [B18 B1 3NO+2 ¢4 -660 121.0 99.0| Si
121.0|P19 P3 3NO+2 ¢8 -660 121.0 99.0| A2
1210 |P21 P4 3NO+2 46 -660 121.0 99.0| C2
121.0 | M8 M11 44 V+2 ¢A -680 84.0 136.0| E2
121.0| RO R16 44 V+2 &7 -680 84.0 136.0| I2
121.0 |[K12 K9 44 V+2 vQ -680 84.0 136.0| K2
121.0| N1 N4 3NO+3 ¢J -690 64.0 156.0| M2
121.0| P1 P15 3NO+3 ¢4 -690 64.0 156.0 | O2
121.0| E2 E1 3NO+3 ¢4 -690 64.0 156.0| P2
121.0| K2 K4 3NO+3 ¢8 -690 64.0 156.0| A3
121.0| M2 M1 3NO+3 ¢4 -690 64.0 156.0| E3
121.0| E3 E10 690 64.0 156.0 | Q3
121.0| K3 K11 3NO+3 ¢4 690 64.0 156.0| R4
180.0| B5 B14 3NO+3 ¥4 -690 64.0 156.0| D5
180.0| 15 115 3NO+3 44 -690 64.0 156.0| F5
180.0| G7 G2 3NV+3 ¥5 -690 64.0 156.0| G5
180.0| O7 O5 3NO+3 ¢4 -690 64.0 156.0| H5
180.0| D8 D2 3NO+3 44 -690 64.0 156.0| J6
180.0 | E8 E11 690  64.0 156.0 | N6
1800| D9 D7 3NO+3 46 -690 64.0 156.0| S7
180.0 [S12 S8 3NO+3 ¢4 -690 64.0 156.0| I8
180.0 |[R13 R10 3NO+3 ¢J -690 64.0 156.0| L8
1800 |P17 P2 3NO+3 ¢4 -690 64.0 156.0 | M8
180.0| R5 R8 44 V+3 49 -710 46.0 174.0| D9
180.0 | N3 N2 3NO+4 v8 -720 33.0 187.0| N9
180.0| 04 06 3NO+4 46 -720 33.0 187.0 |C10
180.0| C5 C14 ANO+3 46 -720 33.0 187.0 | F12
1800| J5 J9 3NO+4 #Q -720 33.0 187.0 |SI12
1800| Q5 Q9 3NV+4 ¢3 -720 33.0 187.0 |B14
180.0| L6 L4 3NO+4 ¥T -720 33.0 187.0|S14
180.0 | P6 P14 3NO+4 ¢J -720 33.0 187.0|B16
180.0| P8 P18 3NV+4 T -720 33.0 187.0 |G16
180.0| P9 P20 3NO+4 #J -720 33.0 187.0| 116
1800 |C12 C8 3NO+4 46 -720 33.0 187.0 |R16
180.0 |[B17 B6 3NV+4 ¢3 -720 33.0 187.0 | P18
180.0 [G18 G1 3NO+4 #Q -720 33.0 187.0 | P22

180.0| D5 D6 6#V= ¢A -1370 18.0 202.0| K3
180.0| B9 B8 6#V= ¢A -1370 18.0 202.0| O4
180.0|F16 F3 6#V= ¢A -1370 18.0 202.0| B5
180.0 I8 112 64 V= ¢A -1430 13.0 207.0 19
213.0|F13 F10 64 V= ¢A -1430 13.0 207.0|B10
2130 H1 H4 6NO= 3 -1440 8.0 212.0 | F10
213.0| K7 K6 6NO= #4 -1440 8.0 212.0 |R13
213.0| 114 16 6NO= ¢4 -1440 8.0 212.0 | B18
213.0 | B11 B15 64 V+1 &7 -1460 4.0 216.0| N3
21301 Q6 Q8 6NO+1 44 -1470 2.0 218.0| J5
220.0| P5 P11 6NDO= #4 -1680 0.0 220.0| 115
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D3 - 126.3 D3 - 126.3 D3 - 126.3
- M10 82.6 - M10 82.6 - M10 82.6
- H2 95.7 - H2 95.7 - H2 95.7
- E7 67.3 - E7 67.3| R8 - 113.6
L9 - 105.0 L9 - 105.0 - E7 67.3
- J7 84.0 - J7 84.0| L9 - 105.0
- N7 104.2 - N7 104.2 - J7 84.0
Q10 - 74.3 Q10 - 74.3 - N7 104.2
- R2 97.2 - R2 97.2 - P21 104.3
- C10 93.4 - C10 93.4 | Q10 - 74.3
- G10 121.0 - G10 121.0 - Cl1 101.9
P22 - 90.1 P22 - 90.1 - G11 116.3
22 « D864 Basta kontrakt 23 a4 Basta kontrakt 24 4 E875 Basta kontrakt
Ost vED3 6& S =920 Syd v 108762 6NT V =-1440 Vast vE874 34 N =140
ov *2 Alla 49843 Ingen ¢ E7
#EKD62 & ¢ v & NT #E54 & ¢ v & NT #E75 & ¢ v & NT
410953 &K7 N 126 9 1111 4 KD9875 & EKn2 N22511 «D1063 4 Kn4 N8 9 7 98
vKKn4 v10976 S 126 9 1111 vE3 v DKn4 S22511 v K63 v DKn105 S797 98
¢ D43 ¢KKn9875 O 1 6 4 2 2 ¢ 7 ¢+ EKD5 O 11108 1212 + K86 ¢ Kn53 0545 4 4
#Kn109 #3 V16422 #Kn1086 #K32 V 11108 1212 &#Kn84  #K1032 V54544
& EKn2 41063 & K92
v 852 v K95 v92
+ E106 + Kn1062 + D10942
#8754 »D97 *D96
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
D9 D8 6#N= T 920 2200 0.0| R6 R14 74DV -4 44 1100 2200 00| M4 M10 3NN= T 400 2190 1.0
B12 B15 2¢DO-2 #5 500 2170 3.0 E1 E11 100 207.0 13.0| P7 P14 3NN= vJ 400 219.0 1.0
P18 P3 3¢DO-2 v5 500 2170 30| L1 L11 64V-1 &5 100 2070 13.0| C3 C5 INS+3 &6 180 2140 6.0
R5 R14 3NS+3 ¥4 490 2100 10.0| K3 K10 64 V-1 44 100 207.0 13.0( P3 P17 2NS+2 43 180 2140 6.0
B8 B3 3NS+3 4T 490 210.0 10.0| H4 H10 64 V-1 &#A 100 207.0 13.0| K5 K2 INS+3 43 180 2140 6.0
P9 P19 3NS+3 49 490 2100 100| L4 L10 64 O-1 5 100 207.0 13.0|P11 P22 24 S+2 ¢6 170 2100 10.0
B13 B11 3NN+3 6 490 2100 10.0| M4 M10 64 V-1 &A 100 2070 13.0| E1l Ell 150 185.0 35.0
Bl14 B6 3NS+3 49 490 2100 100| F5 F16 64 V-1 A 100 2070 13.0| 11 18 INN+2 5 150 185.0 35.0
H1 H3 3NS+2 +Q 460 190.0 300 H6 H7 64 O-1 ¢J 100 207.0 13.0| C2 C10 INS+2 46 150 185.0 35.0
N1 N6 3NS+2 3 460 190.0 30.0( P6 P12 64 V-1 8 100 207.0 13.0| Q2 Q5 INS+2 43 150 185.0 35.0
K2 K9 3NS+2 T 460 190.0 30.0| L9 L8 6NO-1 ¢J 100 2070 13.0| R2 R4 INN+2 »Q 150 185.0 35.0
E3 E2 3NS+2 #J 460 190.0 30.0(P13 Pl 64V-1 ¢Q 100 2070 13.0| S3 S5 INS+2 ¥3 150 185.0 35.0
F5 F1 3NS+2 +Q 460 190.0 30.0(B17 B8 64 V-1 &A 100 207.0 13.0| H4 H10 INN+2 &2 150 185.0 35.0
E6 E12 460 190.0 30.0(F18 F3 34 V+3 49 -230 194.0 26.0| B5 B16 2NS+1 46 150 185.0 35.0
H6 H7 3NS+2 ¢Q 460 190.0 30.0(S13 S12 3NO+1 ¢2 -630 191.0 29.0( F5 F16 INN+2 #3 150 185.0 35.0
16 11 3NN+2 8 460 190.0 30.0(F17 F8 3NO+1 ¢2 -630 191.0 29.0| O5 O1 INN+2 vQ 150 185.0 35.0
O7 06 3NS+2 45 460 190.0 300 H1I H3 54V= &4 -650 1780 42.0| G6 G2 INN+2 vQ 150 185.0 35.0
F8 F3 3NS+2 &5 460 190.0 30.0( A2 Al 44 V+1 &A -650 178.0 42.0| 17 12 INN+2 vQ 150 185.0 35.0
B10 B9 3NS+2 ¢Q 460 190.0 30.0( D2 D5 44 V+1 44 -650 178.0 42.0| C8 C9 INN+2 vQ 150 185.0 35.0
G10 G9 3NS+2 43 460 190.0 30.0( S2 S10 44 V+1 &A -650 178.0 42.0| P8 P16 INN+2 &2 150 185.0 35.0
F14 F6 3NS+2 ¢3 460 190.0 300 J4 J3 44 V+1l &A 650 1780 42.0| R8 R3 INN+2 vQ 150 185.0 35.0
B16 B4 3NN+2 ¢7 460 190.0 30.0( M7 M5 44 O+1 46 -650 178.0 42.0| L9 L8 2NS+1 43 150 185.0 35.0
G18 G2 3NS+2 43 460 190.0 30.0( O7 O6 44 V+1 &A -650 178.0 42.0| 110 114 INS+2 43 150 185.0 35.0
02 08 44 N+1 7 450 172.0 48.0 (G11l G10 44 O+1 ¢J -650 178.0 42.0|R11 R16 INN+2 v5 150 185.0 35.0
H4 H10 44 N+1 ¢K 450 172.0 48.0( 111 113 44 V+1 &4  -650 178.0 42.0|K12 K11 INN+2 vQ 150 185.0 35.0
C7 C8 44 N+1 49 450 172.0 48.0(R11 R16 44 V+1 &A -650 1780 42.0|F14 F7 INN+2 vQ 150 185.0 35.0
H2 H5 3NS+1 3 430 158.0 62.0 (K12 K11 44 V+1 &A -650 1780 42.0|R15 R5 INS+2 47 150 185.0 35.0
J2 J5 3NS+1 ¢Q 430 158.0 620 11 18 3NO+2 ¢2 -660 159.0 61.0|F17 F8 INN+2 vQ 150 185.0 35.0
N2 N5 3NS+1 3 430 158.0 62.0| M1 M11 3NO+2 +J -660 159.0 61.0(G17 G8 INN+2 vQ 150 185.0 35.0
J4 J3 3NS+1 &J 430 158.0 62.0( J2 J5 3NO+2 ¢J -660 159.0 61.0(P19 P4 INS+2 46 150 185.0 35.0
M4 M10 3NS+1 ¢Q 430 158.0 620 E3 E2 3NO+2 ¢J -660 159.0 61.0| H1 H3 INN+1 &3 120 138.0 82.0
O5 O1 3NN+1 5 430 158.0 620 C8 C9 3NO+2 ¢6 -660 159.0 61.0| K1 K7 INN+1 vQ 120 138.0 82.0
M7 M5 3NS+1 3 430 158.0 62.0(F12 F13 3NO+2 ¢2 -660 159.0 61.0| M1 M11 INN+1 vQ 120 138.0 82.0
Cl10 C5 3NS+1 T 430 158.0 62.0(F14 F7 3NO+2 46 -660 159.0 61.0| A2 Al INN+l1 vQ 120 138.0 82.0
F12 F15 3NS+1 #J 430 158.0 62.0| 116 112 3NO+2 +J -660 159.0 61.0| J2 J5 INN+1 vQ 120 138.0 82.0
K12 K10 3NS+1 3 430 158.0 620 D1 D3 44 V+2 &A -680 113.0 107.0| N2 N5 INN+1 vQ 120 138.0 82.0
115 17 3NS+1 2 430 158.0 620 K1 K7 44 O+2 T -680 113.0 107.0| A3 A4 2NN= vQ 120 138.0 82.0
M1 M11 54 N+1 T 420 141.0 79.0| C2 C10 44 O+2 ¥5 -680 113.0 107.0| I3 16 2NN= 43 120 138.0 82.0
P2 P16 5# N+1 ¢5 420 141.0 79.0( H2 H5 44 V+2 v6 -680 113.0 107. K4 K6 INN+1 vQ 120 138.0 82.0
A3 A4 54 N+1 ¢9 420 141.0 79.0( N2 N5 54 V+1 ¢6 -680 113.0 107.0| L4 L10 INN+1 vQ 120 138.0 82.0
P7 P15 54 N+1 T 420 141.0 79.0| O2 08 44 V+2 +9 -680 113.0 107.0( O4 O3 INN+1 vQ 120 138.0 82.0
Gl4 G6 44 N= ¢5 420 141.0 79.0( Q2 Q5 44 V+2 &A -680 113.0 107.0| E6 E12 120 138.0 82.0
116 111 5« N+1 T 420 141.0 79.0( A3 A4 44 V+2 T -680 113.0 107.0| H6 H7 INN+1 vQ 120 138.0 82.0
Cl C9 5«4N= T 400 125.0 950 C3 C5 44 V+2 &A -680 113.0 107.0| J6 J1 INN+1 vQ 120 138.0 82.0
P1 P14 3NS= 43 400 125.0 95.0( P3 P17 44 V+2 v6 -680 113.0 107.0| N7 N9 INS+1 ¢6 120 138.0 82.0
G5 Gl 3NS= ¢4 400 125.0 95.0( 14 15 44 V+2 ¥6 -680 113.0 107.0| F9 F4 INN+1 vQ 120 138.0 82.0
R6 R9 3NS= ¢Q 400 125.0 95.0( B5 B16 44 V+2 #2 -680 113.0 107.0| P9 P18 INN+1 vJ 120 138.0 82.0
R7 R2 5#N= &3 400 125.0 95.0( G5 G16 44 V+2 8 -680 113.0 107.0|G11 G10 INN+1 vQ 120 138.0 82.0
F10 F9 3NS= ¢3 400 125.0 950 F6 F2 44 V+2 49 -680 113.0 107.0| 111 113 2NN= vQ 120 138.0 82.0
Q10 Q8 5#N= ¢8 400 1250 950 G6 G2 54 V+1 8 -680 113.0 107.0|S11 S6 INN+1 vQ 120 138.0 82.0
G12 G15 3NS= ¢3 400 125.0 95.0( J6 J1 44 O+2 v7 -680 113.0 107.0|F12 F13 2NS= 46 120 138.0 82.0
R13 R11 3NS= ¢Q 400 125.0 95.0( L6 L12 44 V+2 92 -680 113.0 107.0|S14 S7 INN+1 vQ 120 138.0 82.0
F16 F4 5« N= v7 400 125.0 950 Q6 Q1 44 V+2 &A -680 113.0 107.0|G18 G3 INN+1 vQ 120 138.0 82.0
C2 C4 34 N+3 #3 230 114.0 106.0( 17 12 44 V+2 v6 -680 113.0 107.0| N1 N6 2¢ N+1 «J 110 111.0 109.0
2 15 INS+4 ¢3 210 111.0 109.0( J7 J9 44 O+2 5 -680 113.0 107.0| P2 P15 1y N+1 44 110 111.0 109.0
M6 M12 INS+4 43 210 111.0 109.0| R8 R3 54 O+1 &7 -680 113.0 107.0| B6 B2 3¢ S= vK 110 111.0 109.0
D1 D3 4¢ O-2 «4A 200 104.0 116. D9 D8 54 V+1 v6 -680 113.0 107.0| O7 O6 2¢ S+1 46 110 111.0 109.
Q2 Q5 24 N+3 &3 200 104.0 116.0( G9 G4 44 V+2 ¢9 -680 113.0 107.0| S1 S4 INN= vJ 90 85.0 135.0
P6 P13 2¢DO-1 v5 200 104.0 116.0| 19 115 44 V+2 &4  -680 113.0 107.0| H2 H5 INN= vQ 90 85.0 135.0
P12 P11 34 S+2 +¢Q 200 104.0 116.0( K9 K8 44 O+2 ¢6 -680 113.0 107.0| S2 S10 INS= 43 90 85.0 135.0
F17 F7 24 N+3 v6 200 104.0 116.0( P9 P18 44 V+2 &A -680 113.0 107.0| K3 K10 INN= vJ 90 85.0 135.0
K4 K1 2NS+2 +3 180 96.0 1240 110 114 44 V+2 &A -680 113.0 107.0| L3 L2 INN= vQ 90 85.0 135.0
R4 R15 2NS+2 ¢Q 180 96.0 124.0 [ F11 F10 44 V+2 ¥2 -680 113.0 107.0| E4 E10 90 85.0 135.0
Cl2 C3 INS+3 &5 180 96.0 124.0 [ P11 P22 44 V+2 &A -680 113.0 107.0| J4 J3 INN= vQ 90 85.0 135.0
S1 S9 24 N+2 +5 170 72.0 148.0|S11 S6 44 O+2 &7 -680 113.0 107.0| G5 G16 INN= vQ 90 85.0 135.0
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3#N+3 ¢8 170 72.0 148.0 |B12 B13 44 V+2 &A -680 113.0 107.0| P6 P12 INN= vQ 90 85.0 135.0
2« N+4 7 170 72.0 148.0 [S14 S7 44 V+2 44 -680 113.0 107.0| R6 R14 INN=  #2 90 85.0 135.0
3#N+3 v6 170 72.0 1480 [F15 F1 44 V+2 v8 -680 113.0 107.0| J7 J9 INS= 46 90 85.0 135.0
170 72.0 148.0 ([G15 G1 44 V+2 T -680 113.0 107.0| R7 R10 INN= 43 90 85.0 135.0
2« N+4 &3 170 72.0 148.0 |G17 G8 44 O+2 ¢ -680 113.0 107.0| S8 S9 INN= vQ 90 85.0 135.0
3#N+3 ¢5 170 72.0 148.0 (G18 G3 44 V+2 v8 -680 113.0 107.0| D9 D8 INS= 43 90 85.0 135.0
3« N+3 T 170 72.0 148.0 (P19 P4 44 V+2 ¢8 -680 113.0 107.0| K9 K8 INN= vQ 90 85.0 135.0
3#N+3 v6 170 72.0 148.0 (P21 P5 44 V+2 &A -680 113.0 107.0| M9 M8 INN= vQ 90 85.0 135.0
4 N+2 ¢9 170 72.0 1480 C1 C4 5NO+1 43 -690 68.0 1520 R9 R1 INS= 46 90 85.0 135.0
24 N+2 #3 170 72.0 1480 O5 Ol 3NO+3 +¢6 -690 68.0 152.0|P13 P1 INS= 43 90 85.0 135.0
4 N+2 ¢8 170 72.0 1480 D6 D7 3NO+3 +¢2 -690 68.0 152.0|S13 S12 24 N= &J 90 85.0 135.0
3#N+3 T 170 72.0 148.0 ( M6 M12 4NO +2 ¢J -690 68.0 152.0|B15 Bl INN= vQ 90 85.0 135.0
24 N+4 9 170 72.0 1480 M9 M8 3NO+3 +¢2 -690 68.0 152.0|F15 F1 INS= 46 90 85.0 135.0
14 N+3 ¢7 170 72.0 148.0 ([Q10 Q8 3NO+3 ¥5 -690 68.0 152.0|G15 G1 INS= &3 90 85.0 135.0
3#N+3 ¢9 170 72.0 148.0 (B14 B7 3NO+3 +¢6 -690 68.0 152.0| Q4 Q3 1y N= #4 80 62.0 158.0
4 N+2 ¢7 170 72.0 1480 N1 N6 64 V= &A -1430 32.0 188.0| C1 C4 INN-1 vQ -50 37.0 183.0
3#N+3 ¢8 170 72.0 1480| S1 S4 64 V= &A -1430 32.0 188.0| D1 D3 INS-1 46 -50 37.0 183.0
2 N+4 &7 170 72.0 1480 P2 P15 64 V= &A -1430 32.0 188.0| D2 D5 3vy N-1 «4 -50 37.0 183.0
2# N+4 9 170 72.0 1480 R2 R4 64 V= 44 -1430 32.0 188.0| O2 08 INN-1 vQ -50 37.0 183.0
3#N+3 ¢9 170 720 1480 L3 L2 64 V= &A -1430 320 188.0| E3 E2 INN-1 vQ -50 37.0 183.0
150 32.0 1880 S3 S5 64 O= ¢J -1430 32.0 188.0 14 15 INN-1 vQ -50 37.0 183.0
4 N+1 ¢7 150 32.0 188.0( E4 E10 -1430 32.0 188.0| D6 D7 INS-1 43 -50 37.0 183.0
3#N+2 ¢8 150 32.0 188.0| K4 K6 64 V= 44 -1430 32.0 188.0| L6 L12 INN-1 T -50 37.0 183.0
3#N+2 v7 150 32.0 1880 O4 O3 64 V= &A -1430 32.0 188.0| M6 M12 3NN-1 vQ -50 37.0 183.0
4 N+1 ¢5 150 32.0 1880 Q4 Q3 64 V= &A -1430 32.0 188.0| Q6 Q1 2NN-1 v5 -50 37.0 183.0
4 N+1 T 150 32.0 188.0| K5 K2 64 V= v6 -1430 32.0 188.0| M7 M5 2NS-1 46 -50 37.0 183.0
4# N+1 ¢7 150 32.0 1880 B6 B2 64 V= &A -1430 32.0 188.0| B9 B4 INS-1 4 -50 37.0 183.0
3#N+2 v6 150 32.0 188.0 E6 E12 -1430 32.0 188.0 19 115 INN-1 vQ -50 37.0 183.0
2# N+3 ¢7 150 32.0 188.0| E7 E5 64 V= &A -1430 32.0 188.0|Q10 Q8 2NN-1 vQ -50 37.0 183.0
4# N+1 #3 150 32.0 1880 N7 N9 64 V= &A -1430 32.0 188.0|Bl11 B10 24 N-1 vQ -50 37.0 183.0
44 S+1 ¢3 150 32.0 188.0| P7 P14 64 V= 44 -1430 32.0 188.0|Cl1 C6 INN-1 vQ -50 37.0 183.0
4# N+1 ¢K 150 32.0 188.0| R7 R10 64 V= &A -1430 32.0 188.0|F11 F10 2NN-1 &J -50 37.0 183.0
3#N+2 ¥3 150 32.0 188.0( P8 P16 64 V= &A -1430 32.0 188.0|B12 B13 INN-1 vQ -50 37.0 183.0
3« N+2 T 150 32.0 1880 S8 S9 64 V= ¢9 -1430 32.0 188.0|B14 B7 INN-1 vQ -50 37.0 183.0
4# N+1 ¢K 150 32.0 1880 B9 B4 64 V= &A -1430 32.0 188.0|C14 C7 INS-1 46 -50 37.0 183.0
INS+2 #J 150 32.0 1880 F9 F4 64 O= v2 -1430 32.0 188.0| 116 112 INN-1 5 -50 37.0 183.0
2# N+3 8 150 32.0 1880 R9 R1 64 O= &A -1430 32.0 188.0|B17 B8 INN-1 vQ -50 37.0 183.0
4# N+1 ¢7 150 32.0 188.0 |B11 B10 64 O= v6 -1430 32.0 188.0|B18 B3 INN-1 vQ -50 37.0 183.0
4# N+1 o5 150 32.0 188.0(C11 C6 64 V= &A -1430 32.0 188.0|P21 P5 2NN-1 5 -50 37.0 183.0
24 N+1 7 140 11.0 209.0|C14 C7 64 V= #A -1430 32.0 1880| F6 F2 3NS-2 43 -100 8.0 212.0
34 S=  ¢Q 140 11.0 209.0 (G14 G7 64 V= &A -1430 32.0 188.0| E7 E5 44 N-2 ¢Q -100 8.0 212.0
2# N+2 48 130 7.0 213.0|B15 Bl 64 V= &A -1430 320 188.0| G9 G4 3NS-2 43 -100 8.0 212.0
3#N+1 ¢K 130 7.0 213.0|R15 R5 64 V= 44 -1430 32.0 188.0|G14 G7 3NN-2 ¥5 -100 8.0 212.0
3¢ O-1 +2 100 4.0 216.0|B18 B3 64 V= #A -1430 32.0 188.0(F18 F3 INDN-1 vQ -100 8.0 212.0
56 N-1 45 -50 2.0 218.0 I3 16 6NO= ¢J -1440 1.0 219.0( L1 L11 3NN-3 ¥5 -150 1.0 219.0
24DO= #A -180 0.0 220.0| N4 N3 6NO= ¢6 -1440 1.0 219.0f N4 N3 2NN-3 ¢Q -150 1.0 219.0
101.0 - M2 101.0 - M2 101.0

84.8 D4 - 84.8 D4 - 84.8
106.0 - L5 106.0 - L5 106.0
128.3 - Q9 128.3 - Q9 128.3
113.6 - E8 116.3 - E8 116.3

116.3| H9 - 110.3 H9 - 110.3
110.3 - J8 94.7 - J8 94.7
94.7 - N8 98.0 - N8 98.0
98.0 - P20 114.5 - P20 114.5

104.3 |G12 - 108.6 G12 - 108.6
101.9 - C12 94.1 - C12 94.1

116.3 | R13 - 111.7 R13 - 111.7
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